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Current Liabilities and
Employer Obligations

Part 1

Your goals for this “current liabilities” chapter are to learn about:
e The nature and recording of typical current liabilities.
e Accounting for notes payable.
e The criteria for recognition and/or disclosure of contingent liabilities.
e Basic accounting for payroll and payroll related taxes.
e  Other components of employee compensation (e.g. vacation pay, pensions, and so forth).
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1. Current Liabilities

The current liabilities section of the balance sheet contains obligations that are due to be satisfied in
the near term, and includes amounts relating to accounts payable, salaries, utilities, taxes, short-term
loans, and so forth. This casual description is inadequate for all situations, so accountants have
developed a very specific definition to deal with more issues. Current liabilities are debts that are
due to be paid within one year or the operating cycle, whichever is longer; further, such obligations
will typically involve the use of current assets, the creation of another current liability, or the
providing of some service. This enhanced definition is expansive enough to capture less obvious
obligations pertaining to items like customer prepayments, amounts collected for and payable to
third parties, the portion of long-term debt due within one year or the operating cycle (whichever is
longer), accrued liabilities for expenses incurred but not yet paid, and contingent liabilities.
However, the definition is not meant to include amounts not yet “incurred.” For example, salary to
be earned by employees next year is not a current liability (this year) because it has yet to be
“incurred.”

1.1 The Operating Cycle

Remember that the operating cycle is the length of time it takes to turn cash back into cash. That is,
a business starts with cash, buys inventory, sells goods, and eventually collects the sales proceeds in
cash. The length of time it takes to do this is the operating cycle. Take careful note of how the
operating cycle is included in the above definition of current liabilities: “one year or the operating
cycle, whichever is longer.” For most businesses, the operating cycle is less than one year, but not
always. A furniture manufacturer may have to buy and cure wood before it can be processed into a
quality product. This could cause the operating cycle to go beyond one year. If that is the case, then
current liabilities might include obligations due in more than one year.

1.2 lllustrations of Typical Current Obligations

Accounts Payable are the amounts due to suppliers relating to the purchase of goods and services.
This is perhaps the simplest and most easily understood current liability. Although an account
payable may be supported by a written agreement, it is more typically based on an informal working
relation where credit has been received with the expectation of making payment in the very near
term.

Notes Payable are formal short-term borrowings usually evidenced by a specific written promise to
pay. Bank borrowings, equipment purchases, and some credit purchases from suppliers involve such
instruments. The party who agrees to pay is termed the “maker” of the note. Properly constructed, a
note payable becomes a negotiable instrument, enabling the holder of the note to transfer it to
someone else. Notes payable typically involve interest, and their duration varies. When a note is due
in less than one year (or the operating cycle, if longer), it is commonly reported as a current liability.

The Current Portion of Long-term Debt is another frequently encountered current obligation. When
a note or other debt instrument is of long duration, it is reported as a long-term liability. However,
the amount of principal which is to be paid within one year or the operating cycle, whichever is
longer, should be separated and classified as a current liability. For example, a $100,000 long-term
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note may be paid in equal annual increments of $10,000, plus accrued interest. At the end of any
given year, the $10,000 principal due during the following year should be reported as a current
liability (along with any accrued interest), with the remaining balance shown as a long-term
liability.

Accrued Liabilities (sometimes called accrued expenses) include items like accrued salaries and
wages, taxes, interest, and so forth. These items relate to expenses that accumulate with the passage
of time, but will be paid in one lump-sum amount. For example, the cost of employee service
accrues gradually with the passage of time. The amount that employees have earned but not been
paid is termed accrued salaries and should be reported as a current liability. Likewise, interest on a
loan is based on the period of time the debt is outstanding; it is the passage of time that causes the
interest payable to accrue. Accrued but unpaid interest is another example of an accrued current
liability.

Prepayments by Customers arise from transactions such as selling magazine subscriptions in
advance, selling gift-cards, selling tickets well before a scheduled event, and other similar items
where the customer deposits money in advance of receiving the expected good or service. These
items represent an obligation on the part of the seller to either return the money or deliver a service
in the future. As such, the prepayment is reported as “unearned revenue” within the current liability
section of the balance sheet. Recall, from earlier chapters, that the unearned revenue is removed and
revenue is recognized as the goods and services are provided. In some cases, customers may never
redeem a gift-card. In this situation, it would generally be appropriate to derecognize the liability
and record revenue once it is viewed as remote that the card will ever be redeemed and the company
has no obligation to remit funds to some governmental jurisdiction (as is sometimes required by
law). Collections for Third Parties arise when the recipient of some payment is not the beneficiary
of the payment. As such, the recipient has an obligation to turn the money over to another entity. At
first, this may strike you as odd. But, consider sales taxes. The seller of merchandise must collect
the sales tax on transactions, but then has a duty to pass those amounts along to the appropriate
taxing entity. Such amounts are appropriately reflected as a current liability until the funds are
remitted to the rightful owner.

Obligations to be Refinanced deserve special consideration. A long-term debt may have an
upcoming maturity date within the next year. Ordinarily, this note would be moved to the current
liability section. However, companies often simply renew such obligations, in essence, borrowing
money to repay the maturing note. This poses an interesting question -- should currently maturing
long-term debt be shown as a current or a long-term liability if it is going to be renewed by simply
rolling the debt into a replacement long-term obligation? What financial statement is fair -- to show
the debt as current even though it will not be a claim against current assets -- or to show the debt as
long-term even though it is now due? To resolve this issue, accountants have very specific rules: a
currently maturing long-term obligation is to be shown as a current liability unless (1) the company
intends to renew the debt on a long-term basis, and (2) the company has the ability to do so
(ordinarily evidenced by a firm agreement with a competent lender).

Download free ebooks at bookboon.com



Please click the advert

Liabilities and Equity Current Liabilities and Employer Obligations

2. Notes Playable

Long-term notes will be considered in the next chapter. For the moment, let’s focus on the appropriate
accounting for a short-term note. A common scenario would entail the borrowing of money in exchange
for the issuance of a promissory note payable. The note will look something like this:

FOR VALUE RECEIVED, the undersigned promises to pay to the order
. of BancZone, Juc. the sum of:

**%%% Jen-Thousand and ne[100 Dallaxs ***** _ (§710,000)

With annual interest of 8% on any unpaid balance. This note shall mature and be payable, along
with accrued interest, on:

June 30, 208
Januay, A (98‘.0“ Z e

Now, do not use my illustration above to construct a legal document for your own use; this is an
abbreviated illustrative form to focus on the accounting issues. A correct legal form would typically
be far more expansive and cover numerous things like what happens in the event of default, who
pays legal fees if there is a dispute, requirements of demand and notice, and on and on. In the above
note, Oliva has agreed to pay to Banc Zone $10,000 plus interest of $400 on June 30, 20X8. The
interest represents 8% of $10,000 for half of a year.

Vesias.

Join the Vestas
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Experience the Forces of Wind
and kick-start your career
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The amount borrowed is entered in the accounting records by increasing Cash (debit) and Notes
Payable (credit). When the note is repaid, the difference between the carrying amount of the note
and the cash necessary to repay that note is reported as interest expense. Representative journal
entries for the above note follow:

Had the above note been created on October 1, the entries would appear as follows:

In the above entries, notice that interest for three months was accrued at December 31, representing
accumulated interest that must be paid at maturity on March 31, 20X9. On March 31, another three
months of interest was charged to expense. The cash payment included $400 for interest, half
relating to the amount previously accrued in 20X8 and half relating to 20X9.
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Next, let’s consider how the above amounts would appear in the current liability section of the
December 31, 20X8 balance sheet. Observe the inclusion of two separate line items for the note and
related interest:

Current Liabilities
Accounts payable $ 90,000
Salaries payable 2,000
Taxes payable 3,000
Customer prepayments 3,000
Interest payable 200
Note payable 10,000  $ 108,200

In noting this illustration, you may wonder about the order for listing specific current obligations.
One scheme is to list them according to their due dates, from the earliest to the latest. Another
acceptable alternative is to list them by maturity value, from the largest to the smallest.

2.1 A Few Words About Interest Calculations that May Save You

Some Money

First, some short-term borrowing agreements may stipulate that a year is assumed to have 360 days,
instead of the obvious 365 days. In the old days, before calculators, this could perhaps be justified to
ease calculations. In modern days, the only explanation is that the lender is seeking to prey on
unsuspecting borrowers. For example, interest on a $100,000, 8% loan for 180 days would be
$4,000 assuming a 360-day year ($100,000 X .08 X 180/360), but only $3,945 based on the more
correct 365-day year ($100,000 X .08 X 180/365). It is obvious that you should be alert to the stated
assumptions intrinsic to a loan agreement.

Next, be aware of the “rule of 78s.” Some loan agreements stipulate that prepayments will be based
on this tricky technique. A year has 12 months, and 12+ 11+ 10+ 9 + ...+ 1 = 78; somehow
giving rise to the “rule of 78s.” Assume that $100,000 is borrowed for 12 months at 8% interest.
The annual interest is $8,000, but, if the interest attribution method is based on the “rule of 78s,” it
1s assumed that 12/78 of the total interest is attributable to the first month, 11/78 to the next, and so
forth. If the borrower desired to prepay the loan after just two months, that borrower would be very
disappointed to learn that 23/78 (12 + 11 = 23) of the total interest was due (23/78 X $8,000 =
$2,359). If the interest had been based simply on 2 of 12 months, the amount of interest would come
to only $1,333 (2/12 X $8,000 = $1,333).

Download free ebooks at bookboon.com

11



Please click the advert

Liabilities and Equity Current Liabilities and Employer Obligations

Compounding is another concept that should be understood. So far in this text, I have assumed
simple interest in the illustrated calculations. This merely means that Interest = Loan X Interest Rate
X Time. But, at some point, it is fair to assume that the accumulated interest will also start to accrue
interest -- some people call this “interest on the interest.” In the next chapter, this will be examined
in much more detail. For the moment, just take note that a loan agreement will address this by
stating the frequency of compounding -- annually, quarterly, monthly, daily, and even continuously
(which requires a bit of calculus to deduce). The narrower the frequency, the greater the amount of
total interest that will be calculated.

One last trick is for the lender to take their interest up front. That is, the note may be issued with
interest included in the face value. For example, $9,000 may be borrowed, but a $10,000 note is
established (interest is not separately stated). At maturity, $10,000 is repaid, representing a $9,000
repayment of borrowed amounts and $1,000 interest. Note that the lender may state that the interest
rate is 10% ($1,000 out of $10,000), but the effective rate is much higher ($1,000 for $9,000 =
11.11% actual rate).

o
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The journal entries for a note with interest included in face value (also known as a note issued at
discount), are as follows:

1-1-X8 Cash 9,000
Discount on Note Payable 1,000
Note Payable 10,000

To record note payable, issued at a discount

12-31-X8 Interest Expense 1,000
Discount on Note Payable 1,000

To record discount amortization

Note Payable 10,000
Cash 10,000

To record repayment of note

As you examine the above journal entries, note that the $1,000 difference is initially recorded as a
discount on notes payable (on a balance sheet, this would be reported as contra liability; i.e., a
$10,000 notes payable minus a $1,000 discount, for a net liability equal to the $9,000 borrowed).
Discount amortization transfers the discount to interest expense over the life of the loan. This means
that the $1,000 discount should be recorded as interest expense by debiting Interest Expense and
crediting Discount on Notes Payable. In this way, the $10,000 paid at maturity (credit to Cash) can
be offset with an $10,000 reduction in the Notes Payable account (debit).

Be aware that discount amortization occurs not only at the date of repayment, but also at the end of
an accounting period (to record interest expense for the amount attributable to the period). If the
preceding example had a maturity date at other than the December 31 year-end, the $1,000 of
interest expense would need to be recorded partially in one period and partially in another.

Now, each of the above points about unique interest calculations is to alert you to devices that
lenders can use to tilt the benefit of the bargain to their advantage. As a result, statutes have
increasingly required fuller disclosure (“truth in lending”) and, in some cases, outright limited
certain practices. The best I can tell you is to be careful, and understand the full economics of any
borrowing you do. And, if you are lending, be sure to understand the laws that define fair practices
and disclosures; a lender who overcharges interest or violates laws (applicable to the particular
jurisdiction of the loan) can find themselves legally losing the right to collect amounts loaned. Both
borrowers and lenders should be careful -- remember there is an old adage that goes “neither a
borrower or lender be.” Of course, there are plenty of loans, and you will likely be a party to one
someday, so be careful.
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3. Contingent Liabilities

Some events may eventually give rise to a liability, but the timing and amount is not presently sure.
Such uncertain or potential obligations are known as contingent liabilities. There are numerous
examples of contingent liabilities. Legal disputes give rise to contingent liabilities, environmental
contamination events give rise to contingent liabilities, product warranties give rise to contingent
liabilities, and so forth. Do not confuse these “firm specific” contingent liabilities with general
business risks. General business risks include the risk of war, storms, and the like which are
presumed to be an unfortunate part of life for which no specific accounting can be made in advance.

3.1 Accounting for Contingent Liabilities
A subjective assessment of the probability of an unfavorable

. . . Record in the financial
outcome is required to properly account for contingences. statements
Rules specify that contingent liabilities should be recorded in

the accounts when it is probable that the future event will

Reasonably Possible Footnote

No required disclosure
occur and the amount of the liability can be reasonably
estimated. This means that a loss would be recorded (debit)
and a liability established (credit) in advance of the
settlement. An example might be a hazardous waste spill that
will require a large outlay to clean up — it is probable that
funds will be spent and the amount can likely be estimated
(or at least a range of the amount, in which case at least the

lower end of the range is known).

On the other hand, if it is only reasonably possible that the contingent liability will become a real
liability, then a note to the financial statements is all that is required. Likewise, a note is required
when it is probable a loss has occurred but the amount simply cannot be estimated. There is an
important lesson for you to learn from these rules: normally, accounting tends to be very
conservative (when in doubt, book the liability), but this is not the case for contingent liabilities.
Therefore, you should carefully read the notes to the financial statements before you invest or loan
money to a company. There are sometimes significant risks that are simply not on the liability
section of the balance sheet, because the only recognized contingencies are those meeting the rather
strict criteria of “probable” and “reasonably estimable.”

What about remote risks, like a frivolous lawsuit? Remote risks need not be disclosed; they are
viewed as needless clutter. What about business decision risks, like deciding to reduce insurance
coverage because of the high cost of the insurance premiums? GAAP is not very clear on this
subject; such disclosures are not required, but are not discouraged. What about contingent
assets/gains, like a company’s claim against another for patent infringement? GAAP does not permit
the recognition of such amounts before settlement payments are actually received.
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3.2 Timing of Events

If a customer was injured by a defective product in Year 1 (assume the company anticipates a large
estimated loss from a related claim), but the company did not receive notice of the event until Year
2 (but before issuing Year 1’s financial statements), the event would nevertheless impact Year 1
financial statements. The reason is that the event (“the injury itself”) giving rise to the loss arose in
Year 1. Conversely, if the injury occurred in Year 2, Year 1’s financial statements would not be
adjusted no matter how bad the financial effect. However, a note to the financial statements may be
needed to explain that a material adverse event arising subsequent to year end has occurred.

3.3 Warranty Costs

Product warranties are presumed to give rise to a probable liability that can be estimated. When
goods are sold, an estimate of the amount of warranty costs to be incurred on the goods should be
recorded as expense, with the offsetting credit to a Warranty Liability account. As warranty work is
performed, the Warranty Liability is reduced and Cash (or other resources used) is credited. In this
manner, the expense is recorded in the same period as the sale (matching principle). Following are
illustrative entries for warranties. In reviewing these entries, carefully note the accompanying
explanations:

[ ]
B By 2020, wind could provide one-tenth of our planet’s
ra I n p O W e r electricity needs. Already today, SKF's innovative know-
how is crucial to running a large proportion of the
world's wind turbines.
Up to 25 % of the generating costs relate to mainte-
nance. These can be reduced dramatically thanks to our
stems for on-line condition monitoring and automatic
jcation. We help make it more economical to create
eaper energy out of thin air.
our experience, expertise, and creativity,
industries ca st performance beyond expectations.
Therefore we'need the best employees who can
eet this challenge!

T»% Power of Knowledge Engineering

N

Download free ebooks at bookboon.com

15


http://bookboon.com/count/advert/0d9efd82-96d7-e011-adca-22a08ed629e5

Liabilities and Equity Current Liabilities and Employer Obligations

XX-XX-XX  Cash 1,000,000
Sales 1,000,000
To record sales
XX-XX-XX  Warranty Expense 30,000
Warranty Liability 30,000

To record estimated warranty cost equal to 3%
of sales (51,000,000 X 3%)

XX-XX-XX  Warranty Liability 5,000
Cash 5,000

Repaired defective products under warranty
at a cost of $5,000

The analytics of warranty calculations
require consideration of beginning

balances, additional accruals, and WARRANTY LIABILITY Beginning
warranty work performed. For 80,000 25,000 Balance

example, assume Zeff Company had 70,000
a beginning of year Warranty Liability 80,000 95,000
account balance of $25,000. Zeff sells 15,000

Additional
Accruals
($3,500,000) X 2%

goods subject to a one-year warranty,

expecting to incur warranty costs

Work
Performed

equal to 2% of sales. During the year, an
additional $3,500,000 in product sales
occurred and $80,000 was actually
spent on warranty work. How much

is the end of year Warranty Liability? The T-account reveals the logic that results in an ending
warranty liability of $15,000.

Ask yourself what entries Zeff would make during the year based on these calculations. The entries
will be just like those above, but for the revised amounts. The beginning warranty liability (credit
balance of $25,000), plus the additional credit to Warranty Liability ($70,000), and minus the debit
to Warranty Liability ($80,000) produces the ending Warranty Liability balance of $15,000.

Many other costs are similar to warranties. Companies may offer coupons, prizes, rebates, air-miles,
free hotel stays, free rentals, and similar items associated with sales activity. Each of these gives rise
to the need to provide an estimated liability. While the details may very, the basic procedures and
outcomes are similar to those applied to warranties.
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4. Payroll

For most businesses, payroll is perhaps the most significant cost of doing business. And, correctly
planning for and managing these costs is enormously important to a business. Employees don’t tend
to stay long if a payday is missed, so payroll is truly the life’s blood of the business.

Before looking at the special issues pertaining to payroll accounting, you should first understand
who is an “employee.” Many services are provided to a business by other than employees. These
services may include janitorial support, legal services, air conditioner repairs, audits, and so forth.
An employee is defined as a person who works for a specific business and whose activities are
directed by that business -- the business controls what will be done and how it will be done. In
contrast, an independent contractor is one who performs a designated task or service for a company
— the company has the right to control or direct only the result of the work done by an independent
contractor. The distinction is very important because the payroll tax and record keeping
requirements differ for employees and independent contractors. As a general rule, amounts paid to
independent contractors do not involve any “tax withholdings” by the payer; however, the payer
may need to report the amount paid to the Internal Revenue Service (IRS) on a Form 1099, with a
copy to the independent contractor. But, the obligation for paying taxes rests with the independent
contractor.

The employer’s handling of payroll to employees is another matter entirely. Let us begin by
considering the specifics of a paycheck. You may have some work experience, and if you do, you
know that the amount you receive is not the amount you have earned. Your check was likely
reduced by a variety of taxes, possibly including federal income tax, state income tax, and FICA
(social security taxes and medicare/medicaid). Additionally, your check might have been reduced
for insurance costs, retirement savings, charitable contributions, special health and child care
deferrals, and other similar items. Before you feel singled out, you also need to know that your
employer paid additional FICA contributions on your behalf, unemployment taxes, and maybe
insurance costs, workers compensation costs, matching contributions to retirement programs, and
other items. A business must correctly account for all of this activity.

4.1 Gross Earnings

The total earnings of an employee is the “gross pay.” For hourly employees, it is the number of
hours worked multiplied by the hourly rate. For salaried employees, it is the flat amount for the
period, such as $3,000 per month. Gross pay might be increased for both hourly and salaried
employees based on applicable overtime rules. Employers are well advised to monitor statutes
relating to overtime; by law, certain employees must be paid for overtime.
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4.2 Net Earnings
Gross earnings less all applicable deductions is the “net pay.” Let’s examine a representative
paycheck, and the attached stub, as shown on the next page:

You will notice that I. M. Fictitious earned $3,000 during the month, but “took home” only $1,834.
The difference was withheld by Unreal Corporation. The withholdings pertained to:

Income taxes -- Employers are required to withhold federal, state (when applicable), and
city (when applicable) income taxes from an employee’s pay. The withheld amounts must
be remitted periodically to the government by the employer. In essence, the employer
becomes an agent of the government, serving to collect amounts for the government.
Withheld amounts that have yet to be remitted to the government are carried as a current
liability on the employer’s books (recall the earlier mention of amounts collected for third
parties). The level of withholdings are based on the employee’s level of income, the
frequency of pay, marital status, and the number of withholding allowances claimed (based
on the number of dependents). Employees claim withholding allowances by filing a form
W-4 with their employer.

See the light!
The sooner you realize we are right,
the sooner your life will get better!

A bit over the top? Yes we know!

\We are just that sure that we can make your
media activities more effective.

Get “Bookboon’s Free Media Advice”
Email kbom@bookboon.com

bp :' g}_}s
({:} CREDITSUISSE\ DAIMLER %@i Microsoft bookboon.com)

Download free ebooks at bookboon.com

18


http://bookboon.com/count/advert/2c989285-1309-49db-b8d3-9fe300b52812

Liabilities and Equity

HHEEK KKK KEREEKR KR KRER R KRR K KRR R KRR KRR R KRR KRR KRR LR KRR R KRR KK KKK KKK KKK KK E KKK KR K KKK KR KKK KR KX %%

Unreal Corporation Check # 12345
Payroll Account Date: July 31, 20XX
Pay to the order of: 1. M. Fictitious | s18340 |

¥**¥% ONE-THOUSAND, EIGHT-HUNDRED, THIRTY-FOUR AND NO/100 DOLLARS *¥****
OV
MEMO  July payroll for Fictitious gmm WM

FREEK KRR REEKR KR KRER R KRR K KRR R KRR KRR R KRR KRR EE KRR KRR R KRR K KRR R KRR KKK K KKK KK E KR KKK R K KKK KR KKK KR KX %% A
pececccccssccccccccsccscscccccs ®ecccccccccne ®cscccccccccs ®ecc0cc0cccsssccce ®cccccsccccscccccene o

Detach Below before depositing, and save for your records

Employee: I. M. Fictitious :

PapreZiod: July 20xX g:'s:jia;:;?gs 33,000.00
Federal Income Tax $349.00
State Income Tax 117.00
Social Security 180.00
Medicare/Medicaid 45.00
Insurance 175.00
Retirement Savings Plan 200.00
Charity 25.00
Health/Child Care Flex Plan 75.00 1,166.00
Net Pay $1,834.00

It is very important for you to know that the employer’s obligation to protect withheld taxes
and make certain they are timely remitted to the government is taken very seriously.
Employers who fail to do so are subject to harsh penalties for the obvious reason that the
funds do not belong to the employer. Likewise, employees who participate in, or are aware
of misapplication of such funds can expect serious legal repercussions. You should never be
a part of such an activity. The government has made it very simple for employers to remit
withheld amounts, as most commercial banks are approved to accept such amounts from
employers. Further, there are online systems that allow easy funds transfer. The frequency
of the required remittance is dependent upon the size of the employer and the total payroll.

Social Security/Medicare Taxes are also known as “FICA.” FICA stands for Federal
Insurance Contributions Act. This Act establishes a tax that transfers money from workers
to aged retirees (and certain other persons who are in the unfortunate position of not being
able to fully provide for themselves due to disability, loss of a parent, or other serious
problem). The social purpose of the tax is to provide a modest income stream to the
beneficiaries. This component is the social security tax. Another component of the Act is
the medicare/medicaid tax, which provides support for health care costs incurred by retirees
(and designated others). You are perhaps aware that these taxes present an actuarial
problem, as the aged population is growing relative to the number of workers. And, the tax
is a transfer of money from one group to another, rather than being based upon an
established insurance-like fund.

Current Liabilities and Employer Obligations
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The social security tax is presently a designated percentage of income, up to a certain
maximum level of annual income per employee. After the maximum is reached, no further
amounts are due for that year for that employee. The history of both the rate and maximum
level is one of consistent increases over time. For illustrative purposes, I am assuming a 6%
social security tax, on an annual income of $100,000. In the above pay stub, you will note
that 1. M. Fictitious paid $180 in social security tax for the month (6% X $3,000). Since
Fictitious has not yet exceeded $100,000 in gross income for the year-to-date, the annual
maximum has not been reached. Once Fictitious exceeds the annual limit (for most
employees that never occurs), the tax would cease to be withheld -- only to resume anew in
January of the following year. If this tax seems high, you need to know that the employee’s
amount must be matched by the employer. Thus, the burden associated with this tax is
actually twice what is apparent to most employees.

The medicare/medicaid tax is also a designated percentage of income. Unlike the social
security tax, there is no annual maximum. This tax is levied on every dollar of gross
income, without regard to the employees total earnings. I have assumed a 1.5% rate in the
above illustration (1.5% X $3,000 = $45). This is another tax the employer must match
dollar-for-dollar.

Other Employee Deductions typically occur for employee cost sharing in health care
insurance programs, employee contributions to various retirement or other savings plans,
charitable contributions, contributions to tax-advantaged health and child care savings
programs (“flex accounts”), and so forth. In each case, the employer is acting to collect
amounts from the employee, with a resultant fiduciary duty to turn the monies over to
another entity.
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4.3 The Journal Entry for Payroll

I.M. Fictitious’ pay would be recorded as follows:

7-31-XX  Salaries Expense 3,000
Federal Income Tax Payable 349
State Income Tax Payable 117
Social Security Payable 180
Medicare/Medicaid Payable 45
Insurance Payable 175
Retirement Contribution Payable 200
Charitable Contribution Payable 25
Health/Child Flex Payable 75
Cash 1,834
To record payroll of Fictitious

Although not illustrated, as the company remits the withheld amounts to the appropriate entities
(i.e., turns the taxes over to the government, retirement contributions to an investment trust, etc.), it
would debit the related payable and credit cash.
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4.4 Employer Payroll Taxes and Contributions
Recall from above, that social security and medicare/medicaid tax amounts must be matched by
employers.

In addition, the employer must pay federal and state unemployment taxes. These taxes are levied to
provide funds that are paid to workers who are temporarily unable to find employment. The bulk of
unemployment tax is usually levied at the state level since most states choose to administer their
own unemployment programs (which is encouraged by the federal government via a system of
credits to the federal tax rate). The specific rates will depend on the particular state of employment,
and each individual employer’s history. Employers who rarely release employees get a favorable
rate (since they don’t contribute to unemployment problems), but those who do not maintain a stable
labor pool will find their rates going higher. Like social security, the unemployment tax stops each
year once a certain maximum income level is reached. In this text, I will assume the federal rate is
one-half of one percent (0.5%), and the state rate is three percent (3%), on a maximum income of
$10,000. Thus, I assume the federal unemployment tax (FUTA) is capped at $50 per employee and
the state unemployment tax (SUTA) is capped at $300.

Many employers will carry workers’ compensation insurance. The rules about this type of insurance
vary from state to state. Generally, this type of insurance provides for payments to workers who
sustain on-the-job injuries, and shields the employer from additional claims. But, for companies that
do not carry such insurance, the employer has an unlimited exposure to claims related to work place
injuries. Nevertheless, the cost of this insurance can be very high (for risky work, like construction),
and some employers don’t carry such policies. Please be advised that these are very general
statements; if you have specific questions about the rules in your state, you should consult
appropriate counsel and not rely on this generalization.

Many employers will provide health care insurance and retirement plan contributions. These
amounts can often be substantial, perhaps even exceeding the amounts contributed by employees on
their own behalf.

As you can see, the employer’s cost of an employee goes well beyond the amount reported on the
pay check. For many companies, the total cost of an employee can be 125% to 150% of the gross
earnings. Of course, these added costs also need to be entered in the accounting records. Below is
the entry for I. M. Fictitious:
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7-31-XX  Payroll Tax Expense 225

Employee Benefits Expense 675
Social Security Payable 180
Medicare/Medicaid Payable 45
FUTA Payable 0
SUTA Payable 0
Insurance Payable 475
Retirement Contribution Payable 200

To record employer portion of payroll taxes

and benefits

In preparing this entry it was assumed that (a) FUTA and SUTA bases had already been exceeded
earlier in 20XX (hence the related amounts are zero), (b) the employer exactly matched employee
contributions to insurance and retirement programs, and (c) the employer incurred workers’
compensation insurance of $300 (bringing total insurance to $475 ($175 + $300)). Note that
additional accounts could be used to separate employee benefits expense into more specific sub
components (like insurance expense, retirement plan expense, etc.).

4.5 Annual Reports

Each employee and the Internal Revenue Service is to receive an annual statement regarding
compensation. Shortly after the conclusion of a calendar year, an employer must review their
employee records and prepare a summary wage and tax statement (commonly called a W-2). This
information helps employees accurately prepare their own annual federal and state income tax
returns, and allows the government to verify amounts reported by those individual taxpayers.

4.6 Accurate Payroll Systems

As you can tell, accuracy is vital in payroll accounting. Oftentimes, a business may hire an outside
firm that specializes in payroll management and accounting. The business then need only provide
the outside firm with information about time worked by each employee (and of course the money to
cover the gross payroll). The outside firm manages the rest -- providing individual
paychecks/deposits, payroll recordkeeping, government compliance reporting, timely processing of
tax deposits, and the like. For many businesses, being relieved of the burden of payroll processing is
a great relief and allows them to focus on their product and customer.

But, when a business manages its own payroll, very accurate data must be maintained. Most firms
will set up a separate payroll journal or data base that tracks information about each employee, as
well as in the aggregate. In addition, it is quite common to open a separate payroll bank account into
which the gross pay is transferred and from which paychecks and tax payments are disbursed. This
system provides an added control to make sure that employee funds are properly maintained,
processed, and reconciled.
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5. Other Components of Employee
Compensation

Paid vacations are another element of compensation that many employees receive. In addition to
paid vacations, employers may provide for other periods of “compensated absences.” Examples
include paid sick leave, holidays, family emergency time, “comp time” (payback for working
overtime), birthdays, jury duty time, military reserve time, and so forth. Sometimes, these benefits
accumulate with the passage of time, so that the benefit is a function of tenure with the company. To
illustrate, a company may stipulate that one half-day of sick leave and one day of vacation time is
accrued for each month of employment.

Because the cost of periods of compensated absence can become quite significant, it is imperative
that such amounts be correctly measured and reported. Accounting rules provide that companies
expense (debit) and provide a liability (credit) for such accumulated costs when specified conditions
are present. Those conditions are that the accumulated benefit (1) relates to services already
rendered, (2) is a right that vests or accumulates, (3) is probable to be paid to the employee, and (4)
can be reasonably estimated (note that the last two conditions -- probable and reasonably estimable
— are purloined from the contingency rules discussed earlier). Vacation pay typically meets these
conditions for accrual, while other costs may or may not depending upon the individual company’s
policies and history. The bottom line here, is that a company will expense the cost of periods of
compensated absence as those benefits are earned by the employee (another example of the
matching principle); when the employee receives their pay during their time off, the attendant
liability will then be reduced.

5.1 Pension Plans

It is common for a company to offer some form of retirement plan for its employees. These were
touched upon in the above illustrated entries. But, more needs to be said about such plans. First, I
must point out that this is a very complex area of accounting. Most intermediate textbooks will
devote a full chapter to this subject alone, and reducing the discussion to a few paragraphs is a
daunting challenge for any author. Let me begin by noting that there are two broad types of pensions
-- defined contribution plans and defined benefit plans.

With a defined contribution plan, an employer promises to make a periodic contribution (usually a
set percentage of the employee’s salary with some matching portion also put up by the employee)
into a separate pension fund account. After a minimum vesting period, the funds become the
property of the employee for their benefit once they enter retirement. Prior to withdrawal, the funds
might be invested in stocks, bonds, or other approved investments. The employee will receive the
full benefit of the funds and the investment returns, usually withdrawing them gradually after
retirement. With defined contribution type plans, there will be winners and losers. If such funds are
invested well for long periods, they can grow to substantial sums and employees can enjoy great
retirement benefits. On the other hand, some persons will be disappointed when the investment
performance of their fund fails to meet target performance standards.
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For the employer, defined contribution plans offer an important desirable feature: the employer’s
obligation is known and fixed. Risk is transferred to the employee. Further, the employer ordinarily
gets a tax deduction for its contribution, even though the employee does not recognize that
contribution as taxable income until amounts are withdrawn from the pension many years later.
Another aspect of defined benefit plans is that the accounting is straight-forward. The company
merely expenses the required periodic contribution as incurred. Thus the company expenses the
retirement plan payment (like in the journal entries above), and no further accounting on the
corporate books is necessitated. The pension assets and obligations are effectively transferred to a
separate pension trust, greatly simplifying the recordkeeping of the employer.

In stark contrast are the defined benefit plans. With these plans the employer’s promise becomes
more elaborate, and its cost far more uncertain. For example, the company may agree to make
annual pension payments equal to 2% (for each year of service) times the average annual salary
during the last three years of employment. So, a person who works 30 years and then retires, may be
eligible for continuing pay at 60% of their average salary during the last years of employment.
Obviously, these plans are fraught with uncertainty. How long will retirees live and draw benefits,
how many years will employees work, how much will their salary be, and so on?
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Accountants typically rely on actuaries (persons trained and skilled to make assessments about life
expectancy and related work force trends) to come up with certain core estimates. Then, those
estimates are leveraged into an elaborate accounting model that attempts to produce an estimated
annual expense for the eventual pension cost. Some or all of that estimate is funded each year by a
transfer of money into a pension trust fund. Those funds are invested and eventually disbursed to
retirees, but the company remains obligated for any shortfalls in the pension trust.

On the corporate books, you will find the amount of expense attributed to each year (remember, this
amount is only an estimate of actual cost since the true cost will not be known for many years to
come). Beyond that, if a company has failed to fund all the amounts expensed to date, or if the
pension fund is “underfunded” relative to outstanding pension promises made, a pension liability is
reported on its balance sheet. But, the bulk of the pension assets and obligations are carried on the
books of the separate pension trust fund.

There has been a clear trend in recent years away from defined benefit plans and toward defined
contribution plans. Contributing factors have been to reduce corporate risk, simplify corporate
accounting, provide benefits more suitable for transitory work forces, and satistfy workers who
perceive that their own investment returns generated via defined contribution plans will produce a
better retirement.

5.2 Other Post Retirement Benefits

Some companies provide items like health care coverage, prescriptions, and life insurance. It is not
uncommon for an employee to continue to enjoy such benefits after retirement. However, because
the employee is no longer working for the company, it is imperative that corporate cost of such
benefits be expensed during the period of time during which the employee is actively working for
the company and helping it to produce revenues. Again, the matching idea comes into play, where
we must expense costs to match the revenue they help to produce. As a result, companies will
expense the estimated cost of post retirement benefits over many years, creating an offsetting
liability. In later years, as the cost of post retirement benefits is paid out, the liability is accordingly
reduced. (Note: as with pensions, portions of the liability may appear in the current liability section
of the balance sheet, and portions in the long-term section).
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Long-Term Obligations

Part 2

Your goals for this “long-term obligations” chapter are to learn about:

Long-term notes and present value concepts.

The nature of bonds and related terminology.

Accounting for bonds payable, whether issued at par, a premium or discount.
Effective-interest amortization methods.

Special considerations for bonds issued between interest dates and for bond retirements.
Analysis, commitments, alternative financing arrangements, leases, and fair value
measurement.
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6. Long-Term Notes

The previous chapter illustrations of notes were based on the assumption that the notes were of

fairly short duration. Now, let’s turn our attention to longer term notes. A borrower may desire a

longer term for their loan. It would not be uncommon to find two, three, five-year, and even longer

term notes. These notes may evidence a “term loan,” where “interest only” is paid during the period

of borrowing and the balance of the note is due at maturity. The entries are virtually the same as you

saw in the previous chapter. As a refresher, assume that Wilson issued a five-year, 8% term note —

with interest paid annually on September 30 of each year:

10-1-X3

12-31-XX

9-30-XX

9-30-X8

Cash
Note Payable

To record note payable at 8% per annum;
maturity date on 9-30-X8

Interest Expense
Interest Payable

To record accrued interest for 3 months
(570,000 X 8% X 3/12) at end of each year

Interest Expense

Interest Payable
Cash

To record interest payment (510,000 X 8% =
$800, of which $200 was previously accrued at
the prior year end) each September

Interest Expense

Interest Payable

Note Payable
Cash

To record final interest payment and balance
of note at maturity

10,000
10,000

200
200

600

200
800

600

200

10,000
10,800

Other notes may require level payments over their terms, so that the interest and principal are fully

paid by the end of their term. Such notes are very common. You may be familiar with this type of

arrangement if you have financed a car or home. By the way, when you finance real estate, payment

of the note is usually secured by the property being financed (if you don’t pay, the lender can

foreclose on the real estate and take it over). Notes thus secured are called “mortgage notes.”
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6.1 How do | Compute the Payment on a Note?

With the term note illustrated above, it was fairly easy to see that the interest amounted to $800 per
year, and the full $10,000 balance was due at maturity. But, what if the goal is to come up with an
equal annual payment that will pay all the interest and principal by the time the last payment is
made? From my years of teaching, I know that students tend to perk up when this subject is covered.
It seems to be a relevant question to many people, as this is the structure typically used for
automobile and real estate (“mortgage”) financing transactions. So, now you are about to learn how
to calculate the correct amount of the payment on such a loan. The first step is to learn about future
value and present value calculations.

6.2 Future Value

Let us begin by thinking about how invested money can grow with interest. What will be the future
value of an investment? If you invest $1 for one year, at 10% interest per year, how much will you
have at the end of the year? The answer, of course, is $1.10. This is calculated by multiplying the $1
by 10% ($1 X 10% = $0.10) and adding the $0.10 to the dollar you started with.

And, if the resulting $1.10 is invested for another year at 10%, how much will you have? The
answer is $1.21. That is, $1.10 X 10% = $0.11, which is added to the $1.10 you started with. This
process will continue, year after year. The annual interest each year is larger than the year before
because of “compounding.” Compounding simply means that your investment is growing with
accumulated interest, and you are earning interest on previously accrued interest that becomes part
of your total investment pool. In contrast to “compound interest” is “simple interest” that does not
provide for compounding, such that $1 invested for two years at 10% would only grow to $1.20.
Not to belabor the mathematics of the above observation, but you should note the following
formula:

(1+i)»
Where “1” is the interest rate per period and “n” is the number of periods

The formula will reveal how much an investment of $1 will grow to after “n” periods. For example,
(1.10)2=1.21. Or, if $1 was invested for 5 years at 6%, then it would grow to about $1.34 ((1.06)° =
1.33823). Of course, if $1,000 was invested for 5 years at 6%, it would grow to $1,338.23; this is
determined by multiplying the derived factor times the amount invested at the beginning of the 5-
year period. Hopefully, you will see that it is not a great challenge to figure out how much an up-
front lump sum investment can grow to become after a given number of periods at a stated interest
rate. This calculation is aptly termed the “future value of a lump sum amount.” Future Value Tables
are available that include precalculated values (the tables are found in the Appendix to this book).
See if you can find the 1.33823 factor in a future value table. Likewise, use the table to determine
that $5,000, invested for 10 years, at 4%, will grow to $7,401.20 ($5,000 X 1.48024).
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6.3 Present Value
Present value is the opposite of future value, as it reveals how much a dollar to be received in the
future is worth today. The math is simply the reciprocal of future value calculations:

1/(1+i)»
Where “i” is the interest rate per period and “n” is the number of periods
For example, $1,000 to be received in 5 years, when the interest rate is 7%, is presently worth
$712.99 (81,000 X (1/(1.07)%). Stated differently, if $712.99 is invested today, it will grow to $1,000

in 5 years. Present Value Tables are available in the appendix. Use the table to find the present value
of $50,000 to be received in 8 years at 8%; it is $27,013.50 ($50,000 X .54027).
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6.4 Annuities

Streams of level (i.e., the same amount each period) payments occurring on regular intervals are
termed “annuities.” For example, if you were to invest $1 at the beginning of each year at 5% per
annum, after 5 years you would have $5.80. This amount can be painstakingly calculated by
summing the future value amount associated with each individual payment, as shown at below.

Future Value
Factor From Value of Payment at
Year of Investment Table Payment End of 5th Year
1 (amount will be invested 5 years) 1.27628 91 $1.27628
2 (amount will be invested 4 years) 1.21551 $1 $1.21551
3 (amount will be invested 3 years) 1.15763 $1 $1.15763
4 (amount will be invested 2 years) 1.10250 91 $1.10250
5 (amount will be invested 1 year) 1.05000 $1 $1.05000
$5.80192

But, it is much easier to use to an Annuity Future Value Table. The annuity table is simply the
summation of individual factors. You will find the “5.80191 * factor in the 5% column, 5 year row.
These calculations are useful in financial planning. For example, you may wish to have a target
amount accumulated by a certain age, such as with a retirement contribution account. These tables
will help you calculate the amount you need to set aside each period to reach your goal. See the
book Appendix for this table.

Conversely, you may be interested in an Annuity Present Value Table. This table (which is simply
the summation of amounts from the lump sum present value table - with occasional rounding)
shows factors that can be used to calculate the present worth of a level stream of payments to be
received at the end of each period. This table is found in the Appendix to the book. Can you use the
table to find the present value of $1,000 to be received at the end of each year for 5 years, if the
interest rate is 8% per year, is $3,992.71? Look at the 5 year row, 8% column and you will see the
3.99271 factor.

6.5 Returning to the Original Question

How do you compute the payment on a typical loan that involves even periodic payments, with the
final payment extinguishing the remaining balance due? The answer to this question is found in the
present value of annuity calculations. Remember that an annuity involves a stream of level
payments, just like many loans. Now, think of the payments on a loan as a series of level payments
that covers both the principal and interest. The present value of those payments is the amount you
borrowed, in essence removing (“discounting”) out the interest component. This may still be a bit
abstract, and can be further clarified with some equations. You know the following to be true for an
annuity:
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Present Value of Annuity = Payments X Annuity Present Value Factor
A loan that is paid off with a series of equal payments is also an annuity, therefore:
Loan Amount = Payments X Annuity Present Value Factor
Thus, to determine the annual payment to satisfy a $100,000, 5-year loan at 6% per annum:

$100,000 = Payment X 4.21236 (from table)
Payment = $100,000/4.21236
Payment = $23,739.64

You can safely conclude that 5 payments of $23,739.64 will exactly pay off the $100,000 loan and
all interest. Simply stated, the payments on a loan are just the loan amount divided by the
appropriate present value factor. To fully and finally prove this point, let’s look at a typical loan
amortization table. This table will show how each payment goes to pay the accumulated interest for
the period, and reduce the principal, such that the final payment will pay the remaining interest and
principal. You should study this table carefully:

Beginning Principal
of Year Interest on Amount Reduction
Loan Beginning of (payment minus End of Year Loan
Yr Balance Balance Payment interest) Balance

... 96,000 517,739.64 $82,260.36

1| 210000000 55600000 x %) | 2373964 | (52373964 56.00000) | *1$100000.00- $17,739.64
$4,935.620 |- | 518,804.02 563,456.34

2 +82,260.36 ($82,260.36 X 6%) RS “A($23,739.64 - $4,935.62) |  ($82,260.36 - $18,804.02)
$3,807.38 $19,932.26®foe 543'524'08

3 Al ($63,456.34 X 6%) PELECKER ($23,739.64 - $3,807.38) |  ($63,456.32* $19,932.26)
$2,611.44 $21,12820 L. 0$22,395.89

& SR ($43,524.08 X 6%) 523’73,9,.',.6.?.. .(323,739:6452611.44) | (543,524.38 - $21,128.20)

LT s13a375] $22,395.89 $0
> PR ($22,395.89 X 6%) VRS ($23,739.64-$1,343.75) |  ($22,395.89 - $22,395.89)
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The journal entries associated with the above loan would flow as follows:
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6.6

A Few Final Comments on Future and Present Value

Be very careful in performing annuity related calculations, as some scenarios may involve
payments at the beginning of each period (as with the future value illustration above, and
the accompanying future value tables), while other scenarios will entail end-of-period
payments (as with the note illustration, and the accompanying present value table). In later
chapters of this book, you will be exposed to additional future and present value tables and
calculations for alternatively timed payment streams (e.g., present value of an annuity with
payments at the beginning of each period).

Payments may occur on other than an annual basis. For example, a $10,000, 8% per annum
loan, may involve quarterly payments over two years. The quarterly payment would be
$1,365.10 ($10,000/7.32548). The 7.32548 present value factor is reflective of 8 periods
(four quarters per year for two years) and 2% interest per period (8% per annum divided by
four quarters per year). This type of modification does not only pertain to annuities, but also
to lump sums. For example, the present value of $1 invested for five years at 10%
compounded semiannually can be determined by referring to the 5% column, ten-period
row.
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e Numerous calculators include future and present value functions. If you have such a
machine, you should become familiar with the specifics of its operation. Likewise,
spreadsheet software normally includes embedded functions to help with fundamental
present value, future value, and payment calculations. Following is a screen shot of one

such routine:
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7. Bond Payable

A borrower may split a large loan into many small units. Each of these units (or bonds) is essentially
a note payable. Investors will buy these bonds, effectively making a loan to the issuing company.
Bonds were introduced, from an investor’s perspective, in the Long — term Investments chapter. The
specific terms of a bond issue are specified in a bond indenture. This indenture is a written
document defining the terms of the bond issue. In addition to making representations about the
interest payments and life of the bond, numerous other factors must be addressed:

e Are the bonds secured by specific assets that are pledged as collateral to insure payment? If
not, the bonds are said to be debenture bonds; meaning they do not have specific collateral
but are only as good as the general faith and credit of the issuer.

e  What is the preference in liquidation in the event of failure? Agreements may provide that
some bonds are paid before others.

e To whom and when is interest paid? In the past, some bonds were coupon bonds, and these
bonds literally had detachable interest coupons that could be stripped off and cashed in on
specific dates. One reason for coupon bonds was to ease the recordkeeping burden on bond
issuers -- they merely paid coupons that were turned in for redemption. Coupon bonds also
had certain tax implications that are no longer substantive. But, in modern times, most
bonds are registered to an owner. Computerized information systems now facilitate tracking
bond owners, and interest payments are commonly transmitted electronically to the
registered owner. Registered bonds are in contrast to bearer bonds, where the holder of the
physical bond instrument is deemed to be the owner (bearer bonds are rare in the modern
economic system).

e Must the company maintain a required sinking fund? A sinking fund bond may sound bad,
but it is quite the opposite. In the context of bonds, a sinking fund is a required escrow
account into which monies are periodically transferred to insure that funds will be available
at maturity to satisfy the obligation. As an alternative, some companies will issue serial
bonds. Rather than the entire issue maturing at once, portions of the serial issue will mature
on select dates spread over time.

e Can the bond be converted into stock? One “exciting” type of bond is a convertible bond.
These bonds enable the holder to exchange the bond for a predefined number of shares of
corporate stock. The holder may plan on getting paid the interest plus face amount of the
bond, but if the company’s stock explodes upward in value, the holder may do much better
by trading the bonds for appreciated stock. Why would a company issue convertibles? First,
investors love these securities (for obvious reasons) and are usually willing to accept lower
interest rates than must be paid on bonds that are not convertible. Another factor is that the
company may contemplate its stock going up; by initially borrowing money and later
exchanging the debt for stock, the company may actually get more money for its stock than
it would have had it issued the stock on the earlier date.
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e [s the company able to call the debt? Callable bonds provide a company with the option of
buying back the debt at a prearranged price before its scheduled maturity. If interest rates go
down, the company may not want to be saddled with the higher cost obligations and can
escape the obligation by calling the debt. Sometimes, bonds cannot be called. For example,
suppose a company is in financial distress and issues high interest rate debt (known as “junk
bonds”) to investors who are willing to take a chance to bail out the company. If the
company is able to manage a turnaround, the investors who took the risk and bought the
bonds don’t want to have their “high yield” stripped away with an early payoff before
scheduled maturity. Bonds that cannot be paid off earlier are sometimes called
nonredeemable. If you invest in bonds, and want to buy nonredeemable debt, be careful not
to confuse it with nonrefundable. Nonrefundable bonds can be paid off early, so long as the
payoff money is coming from operations rather than an alternative borrowing arrangement.
Lastly, you should note that convertible bonds will almost always be callable, enabling the
company to force a holder to either cash out or convert. The company will reserve this call
privilege because they will want to stop paying interest (by forcing the holder out of the
debt) once the stock has gone up enough to know that a conversion is inevitable.

Your head is probably spinning with all these new terms, and you can see that bonds are potentially
complex financial instruments. Who enforces all of the requirements for a company’s bond issue?
Within the bond indenture agreement should be a specified bond trustee. This trustee may be an
investment company, law firm, or other independent party. The trustee is to monitor compliance
with the terms of the agreement, and has a fiduciary duty to intervene to protect the investor group if
the company runs afoul of its covenants.
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8. Accounting for Bonds Payable

Cash Flow facts 8% stated rate
A bond payable is just a promise to pay a stream of payments over time (the interest
component), and a fixed amount at maturity (the face amount). Thus, it is a blend of an
annuity (the interest) and lump sum payment (the face). To determine the amount an
investor will pay for a bond, therefore, requires some present value computations to
determine the current worth of the future payments.

To illustrate, let’s assume that Schultz Company issues 5-year, 8% bonds. Bonds frequently
have a $1,000 face value, and pay interest every six months. To be realistic, let’s hold to
these assumptions.

Par scenario Market rate of 8%
If 8% is the market rate of interest for companies like Schultz (i.e., companies having the
same perceived integrity and risk), when Schultz issues its 8% bonds, then Schultz’s bonds
should sell at face value (also known as “par” or “100”). That is to say, investors will pay
$1,000 for a bond and get back $40 every six months ($80 per year, or 8% of $1,000). At
maturity they will also get their $1,000 investment back. Thus, the return on the investment
will equate to 8%.
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Premium scenario Market rate of 6%
On the other hand, if the market rate is only 6%, then the Schultz bonds look pretty good
because of their higher stated 8% interest rate. This higher rate will induce investors to pay
a premium for the Schultz bonds. But, how much more will they pay? The answer to this
question is that they will bid up the price to the point that the effective yield (in contrast to
the stated rate of interest) drops to only equal the going market rate of 6%. Thus investors
will pay more than $1,000 to gain access to the $40 interest payments every six months and
the $1,000 payment at maturity. The exact amount they will pay is determined by
discounting (i.e., calculating the present value) the stream of payments at the market rate of
interest. This calculation is demonstrated below, followed by an additional explanation.

Discount scenario Market rate of 10%
Also, consider the alternative scenario. If the market rate is 10% when the 8% Schultz
bonds are issued, then no one would want the 8% bonds unless they can be bought at a
discount. How much discount would it take to get you to buy the bonds? The discount
would have to be large enough so that the effective yield on the initial investment would be
pushed up to 10%. That is to say, your price for the bonds would be low enough so that the
$40 periodic payment and the $1,000 at maturity would give you the requisite 10% market
rate of return. The exact amount is again determined by discounting (i.e., calculating the
present value) the stream of payments at the market rate of interest.
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The table below calculates the price under the three different assumed market rate scenarios:

CASH FLOW FACTS PAR SCENARIO PREMIUM SCENARIO DISCOUNT SCENARIO
8% STATED RATE MARKET RATE OF 8% MARKET RATE OF 6% MARKET RATE OF 10%
PresentValue | PresentValue | PresentValue | PresentValue | PresentValue | PresentValue
Payment Amount Factors at 4%, (@amount X Factors at 3%, (@amount X Factors at 5%, (@amount X
10 Periods factor) 10 Periods factor) 10 Periods factor)
%

Periodic Interest $40.00 8.11090 $324.44 8.53020 $341.21 7.72173 $308.87
Maturity Value $1,000.00 0.67556 $675.56 0.74409 $744.09 0.61391 $613.91
$1,000.00 $1,085.30 $922.78

To further explain, the interest amount on the $1,000, 8% bond is $40 every six months. Since the
bonds have a 5-year life, there are 10 interest payments (or periods). The periodic interest is an
annuity with a 10-period duration, while the maturity value is a lump-sum payment at the end of the
tenth period. The 8% market rate of interest equates to a semiannual rate of 4%, the 6% market rate
scenario equates to a 3% semiannual rate, and the 10% rate is obviously 5% per semiannual period.
The present value factors are taken from the present value tables (annuity and lump-sum,
respectively). You should take time to trace the factors to the appropriate tables. The present value
factors are multiplied times the payment amounts, and the sum of the present value of the
components would equal the price of the bond under each of the three scenarios. Note that the 8%
market rate assumption produced a bond priced at $1.000, the 6% assumption produced a bond
priced at $1,085.30 (which includes an $85.30 premium), and the 10% assumption produced a bond
priced at $922.78 (which includes a $77.22 discount).

These calculations are not only correct theoretically, but you will find that they are very accurate
financial tools -- reality will emulate theory. But, one point is noteworthy. Bond pricing is
frequently done to the nearest 1/32nd. That is, a bond might trade at 103.08. You could easily
misinterpret this price as $1,030.80. But, it actually means 103 and 8/32. In dollars, this would come
to $1,032.50 ($1,000 X 103.25). So, now you should understand the theory and mechanics of how a
bond is priced. It is time to examine the correct accounting.
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8.1 Bond Issued at Par

If Schultz issued 100 of its bonds at par, the following entries would be required, and probably
require no additional explanation:

1-1-X1 Cash 100,000
Bonds Payable 100,000

To record issuance of 100, 8%, 5-year bonds at
par (100 X $1,000 each)

periodically  Interest Expense 4,000
Cash 4,000

To record interest payment (this entry occurs
on every interest payment date at 6 month
intervals -- $100,000 X 8% X 6/12)

12-31-X5 Bonds Payable 100,000
Cash 100,000

To record payment of face value at maturity

8.2 Bond Issued at Premium

You will likely need to reread this paragraph several times before it really starts to sink in. One very
simple way to consider bonds issued at a premium is to reduce accounting to its simplest logic - -
counting money! If Schultz issues 100 of the 8%, 5-year bonds when the market rate of interest is
only 6%, then the cash received is $108,530 (see the previous discussion for the related
calculations). Schultz will have to repay a total of $140,000 ($4,000 every 6 months for 5 years,
plus $100,000 at maturity). Thus, Schultz will repay $31,470 more than was borrowed ($140,000 -
$108,530). This $31,470 must be expensed over the life of the bond; uniformly spreading the
$31,470 over 10 six month periods produces periodic interest expense of $3,147 (do not confuse this
amount with the cash payment of $4,000 that must be paid every six months!). Another way to
consider this problem is to note that total borrowing cost is reduced by the $8,530 premium, since
less is to be repaid at maturity than was borrowed up front. Therefore, the $4,000 periodic interest
payment is reduced by $853 of premium amortization each period ($8,530 premium amortized on a
straight line basis over the 10 periods), producing the periodic interest expense of $3,147 ($4,000 -
$853)!
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This topic is inherently confusing, and the journal entries are actually helpful in clarifying your
understanding. As you look at these entries, notice that the premium on bonds payable is carried in a
separate account (unlike accounting for investments in bonds covered in a prior chapter, where the
premium was simply included with the Investment in Bonds account).

1-1-X1 Cash 108,530
Premium on Bonds Payable 8,530
Bonds Payable 100,000

To record issuance of 100, 8%, 5-year bonds at
premium

periodically  Interest Expense 3,147
Premium on Bonds Payable 853
Cash 4,000

To record interest payment (this entry occurs
on every interest payment date at 6 month
intervals) and amortization of premium

12-31-X5 Bonds Payable 100,000
Cash 100,000

To record payment of face value at maturity
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By carefully studying the following illustration you will observe that the Premium on Bonds
Payable is established at $8,530, then reduced by $853 every interest date, bringing the final balance
to zero at maturity.

Net Book Value | Interest Expense
. . (Bonds Payable (Cash Paid
Period Bonds Unamortized plus Unamortized less Premium
Ending Payable Premium Premium) Amortization)
$ 100,000 $ 8,530 $ 108,530

6-30-X1 100,000 7,677 107,677 $ 3,147
12-31-X1 100,000 6,824 106,824 3,147
6-30-X2 100,000 5,971 105,971 3,147
12-31-X2 100,000 5118 105,118 3,147
6-30-X3 100,000 4,265 104,265 3,147
12-31-X3 100,000 3,412 103,412 3,147
6-30-X4 100,000 2,559 102,559 3,147
12-31-X4 100,000 1,706 101,706 3,147
6-30-X5 100,000 853 100,853 3,147
12-31-X5 100,000 0 100,000 3,147

On any given financial statement date, Bonds Payable is reported on the balance sheet as a liability,
along with the unamortized Premium appended thereto (known as an “adjunct” account). To
illustrate, the balance sheet disclosure as of 12-31-X3 would appear as follows:

Long-term Liabilities

Bonds payable $ 100,000
Plus: Unamortized premium on bonds payable 3412  $103,412

The income statement for all of 20X3 would include $6,294 of interest expense ($3,147 X 2). This
method of accounting for bonds issued at a premium is known as the straight-line amortization
method, as interest expense is recognized uniformly over the life of the bond. The technique offers
the benefit of simplicity, but it does have one conceptual shortcoming. Notice that interest expense
is the same each year, even though the net book value of the bond (bond plus remaining premium) is
declining each year due to amortization. As a result, interest expense each year is not exactly equal
to the effective rate of interest (6%) that was implicit in the pricing of the bonds. For 20X1, interest
expense can be seen to be roughly 5.8% of the bond liability ($6,294 expense divided by beginning
of year liability of $108,530). For 20X4, interest expense is roughly 6.1% (86,294 expense divided
by beginning of year liability of $103,412). Accountants have devised a more precise approach to
account for bond issues called the effective interest method. Be aware that the more theoretically
correct effective interest method is actually the required method, except in those cases where the
straight-line results do not differ materially. Effective-interest techniques are introduced in a
following section of this chapter
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8.3 Bond Issued at a Discount

If Schultz issues 100 of the 8%, 5-year bonds for $92,278 (when the market rate of interest is 10% --
see the previous discussion for exact calculations), Schultz will still have to repay a total of
$140,000 ($4,000 every 6 months for 5 years, plus $100,000 at maturity). Thus, Schultz will repay
$47,722 ($140,000 - $92,278) more than was borrowed. This $47,722 must be expensed over the
life of the bond; spreading the $47,722 over 10 six-month periods produces periodic interest
expense of $4,772.20 (do not confuse this amount with the cash payment of $4,000 that must be
paid every six months!). Another way to consider this problem is to note that the total borrowing
cost is increased by the $7,722 discount, since more is to be repaid at maturity than was borrowed
upfront. Therefore, the $4,000 periodic interest payment is increased by $772.20 of discount
amortization each period ($7,722 discount amortized on a straight line basis over the 10 periods),
producing periodic interest expense that totals $4,772.20!

Now, let’s look at the entries for the bonds issued at a discount. Like bond premiums, discounts are
also carried in a separate account.

1-1-X1 Cash 92,278
Discount on Bonds Payable 7,722
Bonds Payable 100,000

To record issuance of 100, 8%, 5-year bonds at
discount

periodically  Interest Expense 4,772
Discount on Bonds Payable 772
Cash 4,000

To record interest payment (this entry occurs
on every interest payment date at 6 month
intervals) and amortization of discount

12-31-X5 Bonds Payable 100,000
Cash 100,000

To record payment of face value at maturity

By carefully studying this illustration, you will observe that the Discount on Bonds Payable is
established at $7,722, then reduced by $772.20 on every interest date, bringing the final balance to
zero at maturity. On any given financial statement date, Bonds Payable is reported on the balance
sheet as a liability, along with the unamortized Discount that is subtracted (known as a “contra”
account). The illustration below shows the balance sheet disclosure as of June 30, 20X3. Note that
the unamortized discount on this date is determined by calculations revealed in the table that
follows:

Long-term Liabilities

Bonds payable $ 100,000
Less: Unamortized discount on bonds payable (3.861) $ 96,139
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$ 100,000.00 $ 7,722.00 $ 92,278.00
6-30-X1 100,000.00 6,949.80 93,050.20 $ 4,772.20
12-31-X1 100,000.00 6,177.60 93,822.40 4,772.20
6-30-X2 100,000.00 5,405.40 94,594.60 4,772.20
12-31-X2 100,000.00 4,633.20 95,366.80 4,772.20
6-30-X3 100,000.00 3,861.00 96,139.00 4,772.20
12-31-X3 100,000.00 3,088.80 96,911.20 4,772.20
6-30-X4 100,000.00 2,316.60 97,683.40 4,772.20
12-31-X4 100,000.00 1,544.40 98,455.60 4,772.20
6-30-X5 100,000.00 772.20 99,227.80 4,772.20
12-31-X5 100,000.00 0 100,000.00 4,772.20

The income statement for each year would include $9,544.40 of interest expense ($4,772.20 X 2)
under this straight-line approach. It again suffers from the same theoretical limitations that were
discussed for the straight-line premium example. But, it is an acceptable approach if the results are
not materially different from those that would result with the effective-interest amortization
technique.
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9. Affective-Interest Amortization Methods

The theoretically preferable approach to recording premium and discount amortization is the
effective-interest method. It recognizes interest expense as a constant percentage of the bond’s
carrying value, rather than as an equal dollar amount each year. The theoretical merit rests on the
fact that the interest calculation aligns with the basis on which the bond was priced; that is to say,
the interest expense is calculated as the effective-interest rate times the bond’s carrying value for
each period. The amount of amortization is the difference between the cash paid for interest and the
calculated amount of bond interest expense.

9.1 The Premium lllustration

Recall that when Schultz issued its bonds to yield 6%, it received $108,530. Thus, effective interest
for the first six months is $108,530 X 6% X 6/12 = $3,255.90. Of this amount, $4,000 is paid in
cash and $744.10 ($4,000 - $3,255.90) is premium amortization. The premium amortization reduces
the net book value of the debt to $107,785.90 ($108,530 - $744.10). This new balance would then
be used to calculate the effective interest for the next period. This process would be repeated period

after period. The following table demonstrates the full amortization process for the life of Schultz’s
bonds.

B:z:il::ii?\lge:f :;:::::: Amount Pren.\iun.\ End of Period

X (Net Book Amortization | Net Book Value
Period Book Value of Value X 6% X of (payment minus | (beginning balance
Ending Bonds Payable 6/12) Payment expense) less amortization)
6-30-X1 $ 108,530.00 $ 325590 $ 4,000.00 $ 74410 $ 107,785.90
12-31-X1 107,785.90 3,233.58 4,000.00 766.42 107,019.48
6-30-X2 107,019.48 3,210.58 4,000.00 789.42 106,230.06
12-31-X2 106,230.06 3,186.90 4,000.00 813.10 105,416.96
6-30-X3 105,416.96 3,162.51 4,000.00 837.49 104,579.47
12-31-X3 104,579.47 3,137.38 4,000.00 862.62 103,716.86
6-30-xX4 103,716.86 3,111.51 4,000.00 888.49 102,828.36
12-31-X4 102,828.36 3,084.85 4,000.00 915.15 101,913.21
6-30-X5 101,913.21 3,057.40 4,000.00 942.60 100,970.61
12-31-X5 100,970.61 3,029.39 4,000.00 970.61 100,000.00

The initial journal entry to record the issuance of the bonds, and the final journal entry to record
repayment at maturity would be identical to those demonstrated for the straight-line method.
However, each journal entry to record the periodic interest expense recognition would vary and can
be determined by reference to the above amortization table. For instance, the recording of interest
on 6-30-X3 would appear as follows:

Download free ebooks at bookboon.com

46



Liabilities and Equity Long-Term Obligations

6-30-X3 Interest Expense 3,162.51
Premium on Bonds Payable 837.49
Cash 4,000.00
To record interest payment and amortization
of premium

The resulting balance sheet disclosure as of June 30, 20X3, would include the following:

Long-term Liabilities

Bonds payable $ 100,000
Plus: Unamortized premium on bonds payable 4579  $104,579

With effective-interest techniques, interest expense varies in direct proportion to the ever reducing
amount of debt. Thus, interest expense is a constant percentage of the reported debt rather than a
constant amount of expense as with the straight-line method.

9.2 The Discount lllustration

Recall that when Schultz issued its bonds to yield 10%, it received only $92,278. Thus, effective
interest for the first six months is $92,278 X 10% X 6/12 = $4,613.90. Of this amount, $4,000 is
paid in cash, and $613.90 is discount amortization. The discount amortization increases the net book
value of the debt to $92,891.90 ($92,278.00 + $613.90). This new balance would then be used to
calculate the effective interest for the next period. This process would be repeated period after

period. The following table demonstrates the full amortization process for the life of Schultz’s
bonds.

B::’rii':::iirli\lge:f :;:,e;::: Amount Discount End of Period

. (Net Book Amortization | Net Book Value
Period Book Value of | yajuex10% of (expense minus | (beginning balance
Ending Bonds Payable X 6/12) Payment payment) plus amortization)
6-30-X1 $  92,278.00 $ 4,613.90 $ 4,000.00 $  613.90 $  92,891.90
12-31-X1 92,891.90 4,644.60 4,000.00 644.60 93,536.50
6-30-X2 93,536.50 4,676.82 4,000.00 676.82 94,213.32
12-31-X2 94,213.32 4,710.67 4,000.00 710.67 94,923.99
6-30-X3 94,923.99 4,746.20 4,000.00 746.20 95,670.19
12-31-X3 95,670.19 4,783.51 4,000.00 783.51 96,453.69
6-30-X4 96,453.69 4,822.68 4,000.00 822.68 97,276.38
12-31-X4 97,276.38 4,863.82 4,000.00 863.82 98,140.20
6-30-X5 98,140.20 4,907.01 4,000.00 907.01 99,047.21
12-31-X5 99,047.21 4,952.79 4,000.00 952.79 100,000.00
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be determined by reference to the above amortization table. For instance, the recording of interest
on June 30, 20X3, would appear as follows:

6-30-X3 Interest Expense 4,746.20
Premium on Bonds Payable 746.20
Cash 4,000.00
To record interest payment and amortization
of discount

The resulting balance sheet disclosure as of June 30, 20X3, would include the following:

Long-term Liabilities

Bonds payable $ 100,000
Less: Unamortized discount on bonds payable (4.330) $ 95,670
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10. Bonds Issued Between Interest Dates and
Bond Retirement

This issue is best understood in the context of a specific example. Suppose Thompson Corporation
proposed to issue $100,000 of 12% bonds, dated April 1, 20X1. However, despite the April 1 date,
the actual issuance was slightly delayed, and the bonds were not sold until June 1. Nevertheless, the
covenant pertaining to the bonds specifies that the first 6-month interest payment date will occur on
September 30 in the amount of $6,000 ($100,000 X 12% X 6/12). In effect, interest for April and
May has already accrued ($100,000 X 12% X 2/12 = $2,000) at the time the bonds are actually
issued. To be fair, Thompson will collect $2,000 from the purchasers of the bonds at the time of
issue, and then return it within the $6,000 payment on September 30 -- effectively causing the net
difference of $4,000 to represent interest expense for June, July, August, and September ($100,000
X 12% X 4/12). The resulting journal entries are:

6-1-X1 Cash 102,000
Interest Payable 2,000
Bonds Payable 100,000

To record issuance of 100, 12% bonds

9-30-X1 Interest Expense 4,000
Interest Payable 2,000
Cash 6,000

To record interest payment (includes return of
accrued interest payable from original issue
onJune 1)

You should also be aware that the concepts just revealed for bonds issued between interest payment
dates are also applicable to bonds that are traded between investors. There is no requirement, indeed
no expectation, that bond investors will continue to hold bonds to maturity. Bonds are financial
instruments that are traded between investors, just like stocks. When bond investors sell bonds
between interest dates, they will receive from the purchaser the price plus accrued interest, knowing
that the purchaser will then receive a full period’s interest on the next regularly scheduled interest
date. This mechanism is intended to simplify the bond issuer’s accounting by allowing one interest
payment to the current holder, rather than having to provide pro-rata payments to the various
investors who have held the bonds for a portion of each interest period.

Someday you will likely consider investing in bonds, and this information about the handling of
accrued interest between interest dates will come in useful to you. And, you also need to be keenly
aware that your bond investments can change in value. Remember that the value of a bond is a
function of the bond’s stated rate of interest in relation to the going market rate of interest. If market
interest rates rise while you hold your bond investment, look for its market value to decline
(reflecting a lower present value based on the higher discount rate) -- and vice versa. Of course, if
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you hold on to the bond to maturity, its value will converge to the face value (so long as the issuer
does not go broke)!

10.1 Year-end Interest Accruals

Continuing the illustration for Thompson, what December 31, 20X1, adjusting entry would be
needed to bring the books current at year end? Notice that interest was paid in full through
September 30. Therefore, the year-end entry must reflect the accrual of interest for October through
December:

12-31-X1  Interest Expense 3,000
Interest Payable 3,000

To record accrued interest at year end for three
months (5100,000 X 12% X 3/12)

When the next interest payment date arrives on March 31, the actual interest payment will cover the

previously accrued interest, and additional amounts pertaining to January, February, and March:

3-31-X2 Interest Expense 3,000
Interest Payable 3,000
Cash 6,000

To record interest payment (includes accrued
interest payable from prior year)

Any end-of-period entries would also include adjustments of interest expense for the amortization of
existing bond premiums or discounts relating to the elapsed time periods.

10.2 Bonds may be Retired Before Scheduled Maturity

Early retirements of debt may occur, because a company has generated sufficient cash reserves from
operations, and the company wants to stop paying interest on outstanding debt. Or, interest rates
may have changed, and the company wants to take advantage of more favorable borrowing
opportunities; you have probably heard of individuals engaging in this type of strategy when they
“refinance” a home loan.

Whether the debt is being retired or refinanced in some other way, accounting rules dictate that the
retired debt be removed from the books, and that the difference between the debt’s net carrying
value and the funds paid to retire the debt be recognized as a gain or loss. For instance, assume that
Cabano Corporation is retiring $200,000 face of its 6% bonds payable. The last semiannual interest
payment occurred on April 30, and the bonds are being retired on June 30, 20X5. The unamortized
discount on the bonds at April 30, 20X5, was $6,000, and there was a 5-year remaining life on the
bonds as of that date. Further, Cabano is paying $210,000, plus accrued interest, to retire the bonds;
this “early call” price was stipulated in the original bond covenant.

Download free ebooks at bookboon.com

50



Liabilities and Equity Long-Term Obligations

The first step to account for this bond retirement is to bring the accounting for interest up to date:

Then, the actual bond retirement can be recorded, with the difference between the up-to-date
carrying value and the funds utilized being recorded as a loss (debit) or gain (credit).

Notice that Cabano’s loss relates to the fact that it took a lot more cash ($210,000) to pay off the
debt than was the debt’s carrying value ($194,200 ($200,000 minus $5,800)).
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11. Analysis, Commitments, Alternative
Financing Arrangements, Leases, and Fair Value
Measurements

Careful analysis is essential in making judgments about an entity’s financial health. One form of
analysis is ratio analysis where certain key metrics are evaluated against one another. One such ratio
is “debt to total assets.” This ratio shows the percentage of total capitalization that is provided by the
creditors of a business:

Debt to Total Assets Ratio = Total Debt/Total Assets
A related ratio would be “debt to equity” that divides total debt by total equity:
Debt to Equity Ratio = Total Debt/Total Equity

The debt to asset and debt to equity ratios are carefully monitored by investors, creditors, and
analysts. The ratios are often seen as signs of financial strength when “small,” or signs of
vulnerability when “large.” Of course, small and large are relative terms. Some industries, like the
utilities, are inherently dependent on debt financing but may, nevertheless, be very healthy. On the
other hand, some high-tech companies may have little or no debt but be seen as vulnerable due to
their intangible assets with potentially fleeting value. In short, one must be careful to correctly
interpret a company’s debt related ratios. One must also be careful to recognize the signals and
trends that may be revealed by careful monitoring of these ratios.

Another ratio is the “times interest earned ratio:”

Times Interest Earned Ratio

Income Before Income Taxes and Interest/Interest Charges

This ratio is intended to demonstrate how many times over the income of the company is capable of
covering its unavoidable interest obligation. If this number is relatively small, it may signal that the
company is on the verge of not generating sufficient operating results to cover its mandatory interest
obligation.

There are numerous other ratios that can be described; in fact, many of these are covered in other
chapters (along with mathematical illustrations). However, while ratio analysis is an important part
of evaluating a company’s financial health, one cannot be too careful or place undue reliance on any
single evaluative measure. This will become quite apparent as you read the final concluding
comments below.
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11.1 Contractual Commitments and Alternative Financing

Arrangements

A company may enter into a long-term agreement to buy a certain quantity of supplies from another
company, agree to make periodic payments under a lease (or similar arrangement) for many years to
come, agree to deliver products at fixed prices in the future, and so forth. There is effectively no
limit or boundary on the nature of these commitments and agreements. Oftentimes, such situations
do not result in a presently recorded obligation, but may give rise to an obligation in the future. This
introduces a myriad of accounting issues that are beyond the scope of introductory accounting
courses, but a few generalizations are in order. First, footnote disclosures are generally required for
the aggregate amount of committed payments that must be made in the future (with a year by year
breakdown). Second, changes in the value of such commitments may entail loss recognition when a
company finds itself locked into a future transaction that will have negative economic effects (e.g.,
committing to buy oil at $80 per barrel when the current price has declined to $65). From these
observations, one thing should be clear to you -- beware to not limit your evaluation of a company
to just the numbers on the balance sheet, as significant other financial details are often found in
notes to the financial statements.

11.2 Capital Leases

A previous chapter introduced the idea of a “capital lease.” Such transactions enable the lessee to
acquire needed productive assets, not by outright purchase, but by leasing. The economic substance
of capital leases, in sharp contrast to their legal form, is such that the lessee effectively assumes the
risks and rewards of owning the asset. Further, the accompanying obligation for lease payments is
akin to a note payable. That is, the lessee is under contract to make a stream of payments over time
that substantively resembles the stream of payments that would have occurred had the lessee
purchased the asset via a promissory note. Accounting rules attempt to track economic substance
ahead of legal form. Thus, when an asset is acquired via a capital lease, the initial recording is to
establish both the asset and related obligation on the lessee’s balance sheet.

Assume that equipment with a five-year life is leased on January 1, 20X1, and the lease agreement
provides for 5 end-of-year lease payments of $23,739.64 each. At the time the lease was initiated,
the lessee’s incremental borrowing rate (the interest rate the lessee would have incurred on similar
debt financing) is assumed to be 6%. The accountant would discount the stream of payments using
the 6% interest rate and find that the present value of the fixed non cancelable lease payments is
$100,000. Therefore, the following entry would be necessary to record the lease:

1-1-X1 Equipment 100,000
Obligation Under Capital Lease 100,000

To record capital lease at present value of fixed
noncancelable lease payments (523,739.64 X
PV Factor of 4.21236)
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After the initial recording, the accounting for the asset and obligation take separate paths. The asset
is typically depreciated over the lease term (or useful life, depending on a variety of conditions).
The depreciation method might be straight-line or an accelerated approach. Essentially, the leased
asset is accounted for like any other owned asset of the company. The Obligation Under Capital
Lease is accounted for like a note payable. In the above example, the amounts happen to correspond
to the amounts illustrated for the mortgage note introduced earlier in the chapter. Therefore, the first
lease payment would be accounted for as follows:

12-31-X1  Interest Expense 6,000.00
Obligation Under Capital Lease 17,739.64
Cash 23,739.64
To record first lease payment (interest portion
=$100,000 X 6%)

&
GCHQ

it’s an interesting world

Get under the skin of it.

Graduate opportunities
Cheltenham | £24,945 + benefits

One of the UK’s intelligence services, GCHQ’s role is two-fold:

to gather and analyse intelligence which helps shape Britain’s
response to global events, and, to provide technical advice for the
protection of Government communication and information systems.
In doing so, our specialists — in [T, internet, engineering, languages,
information assurance, mathematics and intelligence — get well
beneath the surface of global affairs. If you thought the world was

an interesting place, you really ought to explore our world of work.

= www.careersinbritishintelligence.co.uk

TP 100 [

-
) INVESTORS )

&

Applicants must be British citizens. GCHQ values diversity and welcomes applicants from

S all sections of the community. We want our workforce to reflect the diversity of our work.

Download free ebooks at bookboon.com

54


http://bookboon.com/count/advert/2f9ffd82-96d7-e011-adca-22a08ed629e5

Liabilities and Equity Long-Term Obligations

Notice that this entry results in recording interest expense - not rent. This scheme would be applied
for each successive payment, until the final payment extinguishes the Obligation Under Capital
Lease account. The accounting outcome is virtually identical (i.e., changing amounts of interest
expense as the obligation is reduced over time) to that associated with the mortgage note illustrated
earlier in the chapter.

11.3 The Fair Value Measurement Option

The Financial Accounting Standards Board recently issued a profound standard, “The Fair Value
Option for Financial Assets and Financial Liabilities.” The title is quite revealing. Companies are
now permitted, but not required, to measure certain financial liabilities at fair value. Changes in fair
value can result from many factors, including market conditions pertaining to the overall interest
rate environment. Entities that opt for this standard are to report unrealized gains and losses on
items for which the fair value option has been elected in earnings at each subsequent reporting date.
This new standard is a profound shift in methodology, and has the potential to eventually reshape
debt accounting. Because the new standard is “optional” and somewhat “controversial,” it is very
difficult to predict its practical effect and eventual implications. However, it is indicative of a clear
intent to embrace more fair value methodology into the overall accounting framework.
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Corporate Equity Accounting

Part 3

Your goals for this “corporate” chapter are to learn about:

e Characteristics of the corporate form of organization.

e Common and preferred stock.

e Treasury stock.

e Stock splits and stock dividends.

e The statement of stockholders’ equity.
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12. The Corporate Form of Organization

Corporations are separate legal entities having existence separate and distinct from their owners
(i.e., stockholders). In essence, they are artificial beings existing only in contemplation of law. In
the United States, a corporation is typically created when one or more individuals file “articles of
incorporation” with a Secretary of State in the particular home state in which they choose to become
domiciled. The articles of incorporation will generally specify a number of important features about
the purpose of the corporate entity and how general governance of ongoing operations will be
structured. After reviewing the articles of incorporation, the Secretary of State will issue a charter
(or certificate of incorporation) authorizing the corporate entity to “come into being.” The persons
who initiated the filing (the “incorporators”) will then call a meeting to collect the shareholders’
initial investment (this start-up money will be placed into the corporate accounts) in exchange for
the “stock™ of the corporation (the “stock™ is the financial instrument evidencing a person’s
ownership interest in the corporation). Once the initial stock is issued, a shareholders’ meeting will
be convened to adopt bylaws and elect a board of directors. These directors will then appoint the
corporate officers who will be responsible for commencing the operations of the business. Of
course, in a small start-up venture, the initial incorporators may become the shareholders, then elect
themselves to the board, and finally appoint themselves to become the officers. Which leads one to
wonder why go to all the trouble of incorporating?

The reasons for incorporating can vary, but there are certain unique advantages of this form of
organization that have led to its popularity:

Perhaps the first and most obvious advantage of the corporate form of organization is that it permits
otherwise unaffiliated persons to join together in mutual ownership of a business entity. This
objective can be accomplished in other ways like a partnership, but the corporate form of
organization is arguably one of the better vehicles. Large amounts of venture capital can be drawn
together from many individuals and concentrated into one entity under shared ownership. The stock
of the corporation provides a clear and unambiguous point of reference to identify who owns the
business and in what proportion. Further, the democratic process associated with shareholder voting
rights (typically one vote per share of stock) permits a shareholder’s “say so” in selecting the board
of directors to be commensurate with the number of shares held. In addition to electing the board,
shareholders may vote on other matters such as selection of an independent auditor, stock option

plans, and corporate mergers. The voting “ballot” is usually referred to as a “proxy.”

A great feature of corporate stock is transferability of ownership. Corporate stock is easily
transferable from one “person” to another. In this context, a “person” can be an individual or
another corporation. Transferability provides liquidity to stockholders as it enables them to quickly
enter or exit an ownership position in a corporate entity. And, although a corporation may become
very complex (e.g., buying real estate, entering contracts, etc.), the ability of one shareholder to step
out and allow a successor to take their place can be done quite simply; there is not a need for the
holdings and agreements of the corporate entity to be revised.
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As a corporation grows, it may bring in additional shareholders by issuing even more stock. At
some point, the entity may become sufficiently large that its shares will become “listed” on a stock
exchange and the shareholder group expanded to become large and dispersed. You have probably
heard of an “IPO,” which is the “initial public offering” of the stock of a corporation. Rules require
that such IPOs be accompanied by regulatory registrations and filings, and that potential
shareholders be furnished with a “prospectus” detailing corporate information. The pricing of IPOs
can vary based on market conditions, and sometimes get “wild” for a hot company that seemingly
everyone wants to own. “Publicly traded” (in contrast to “closely held”) corporate entities are
subject to a number of continuing regulatory registration and reporting requirements that are aimed
at ensuring full and fair disclosure.

Another benefit of a corporation is its perpetual existence. A corporate entity is typically of
unlimited duration enabling it to effectively outlive its shareholders. Changes in stock ownership do
not cause operations to cease even when the change in ownership is brought about by the death of a
shareholder. Many corporate entities are over one-hundred years old. What would cause a
corporation to cease to exist? At some point, a corporation may be acquired by another and merged
in with the successor. Or, a corporation may become a business failure and cease operations
(typically accompanied by a request to the Secretary of State to “dissolve” the legal existence). Of
course, not all dissolutions are the result of failure. Some businesses may find that liquidating
operating assets and distributing substantial residual monies to the creditors and shareholders is a
preferable strategy to continued operation.

Not to be overlooked in considering why a corporation is desirable is the feature of limited liability
for stockholders. If you buy the stock of a corporation, you normally do so with the understanding
that you can lose the amount of your investment, but no more. Stockholders are not liable for debts
and losses of the company beyond the amount of their investment. There are exceptions to this rule.
In some cases, shareholders may be called upon to sign a separate guarantee for corporate debt.
And, shareholders in closely held companies can inadvertently get drawn into having to satisfy
corporate debts where they commingle their personal finances with those of the company or fail to
satisfy the necessary legal procedures to maintain a valid corporate existence.

Corporations are not without certain notable disadvantages:
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Corporations in the United States are taxable entities, and their income is subject to taxation. This
“income tax” is problematic as it oftentimes produces double taxation. This effect occurs, because
when shareholders receive cash dividends on their corporate investments, they must include the
dividends in their own calculation of taxable income. Thus, a dollar earned at the corporate level is
reduced by corporate income taxes (at a rate that is likely about 35%); to the extent the remaining
after-tax profit is distributed to sharcholders as dividends, it is again subject to taxes at the
shareholder level (at a rate that will vary in the 15% to 35% range). So, as much as half or more of
the profits of a dividend-paying corporation are apt to be shared with governmental entities because
of this double taxation effect. Governments are aware that this double-taxation outcome can limit
corporate investment and be potentially damaging to the economic wealth of their nation. Within the
United States, various measures of relief are sometimes available, depending on the prevailing
political climate (including “dividends received deductions” for dividends paid between affiliated
companies, lower shareholder tax rates on dividends, and S-Corporation provisions that permit
closely held corporations to attribute their income to the shareholders thereby avoiding one level of
tax). Outside of the United States, some countries adopt “tax holidays” that permit newer companies
to be exempt from income taxes, or utilize different approaches to taxing the value additive
components of production by an entity.
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Another burden on the corporate form of organization is costly regulation. Larger (usually public)
companies are under scrutiny of federal (The Securities and Exchange Commission (SEC) and other
public oversight bodies) and state regulatory bodies. History tells us that the absence or failure of
these regulators will quickly foster an environment where rogue business persons will launch all
manner of stock fraud schemes (not the least of which is inflated profits to attract and rob
unsuspecting investors). Worse, these frauds quickly corrupt public confidence in stock investments
and destroy wealth and opportunity for everyone. Without a willingness on the part of investors to
join together via a corporate vehicle, new ideas, products, and innovations go undeveloped.
Therefore, it seems almost unavoidable that governmental regulation must be a part of the corporate
scene. However, the cost of compliance with such regulation is heavy indeed. Public companies
must prepare and file quarterly and annual reports with the SEC, along with a myriad of other
documents. And, many of these documents must be certified or subjected to independent audit.
Further, requirements are in place that requires companies to have strong internal controls and even
ethical training. As a result, one cannot simply dismiss this regulatory cost as a nuisance; indeed, it
must be considered as a potential barrier to opting to become a public company. Historic events (the
stock market crash of 1929 and the Enron/WorldCom debacles of 2001 and 2002, are two USA
examples of precipitating events) have been catalysts for significant legislation intended to protect
public investors.
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13. Common and Preferred Stock

Companies may issue different types of stock; notably common stock and preferred stock. Being
familiar with the word preferred may lead you to conclude it is the better choice, but such is not
necessarily the case. The customary features of common and preferred differ, providing some
advantages and disadvantages for each. As you shall soon see, preferred stock is ordinarily in a
better position for dividends and any liquidation proceeds, but it can be left out of significant
opportunities for share value appreciation. Before digging into the specifics, be advised that the
following discussion relates to general features, and the applicability of these general features can
be modified on a company by company basis. Before investing in any company’s common or
preferred stock, you should carefully examine the specific provisions that might be unique to that
company.

13.1 Typical Common Stock Features

e The right to share in a portion of dividends that are declared and issued by the company to
its common shareholders.

e An option to buy a proportional part of any additional shares that may be issued by the
company. This “preemptive right” is intended to allow a shareholder to avoid dilution by
being assured a place in line to acquire a fair part of any corporate stock expansion.
(Numerous companies have done away with this provision.)

e The right to vote on certain general governance matters like election of the Board of
Directors, employee stock award plans, mergers, and similar major items.

e The right to share in proceeds of liquidation after all creditors and other priority claims are
settled.

e The right to periodic financial reports about corporate performance.

Some companies go to the added trouble of having multiple classes of common stock -- Class A,
Class B, etc. A good example is a “family business” that has grown very large and become a public
company. Such situations may be accompanied by the creation of Class A stock (held by the family
members) and Class B stock (held by the public), where only the Class A stock can vote. Thus, the
family has raised needed capital but preserved the ability to control and direct the company. You
might also find it interesting that one can be forced out (in exchange for a fair price) of a stock
ownership interest; this can occur when a company is bought out by another, and most of the other
shareholders (oftentimes as high as 80 to 90%) have consented to the transaction. Non controlling
shareholders (those who hold stock in a company where another party owns more than half of the
corporation) are sometimes called the “minority interest.” Minority shareholders are in a treacherous
position, and governing laws vary considerably in how much protection is afforded to prevent the
majority from engaging in transactions and activities that disadvantage the minority.
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13.2 Possible Preferred Stock Features
e A preferred position for dividends. Preferred stock is paid a dividend prior to any

distribution to common stockholders, and the dividend is more or less expected each period.
The amount of the dividend is usually stated as a percentage of the preferred stock’s “par
value.” Furthermore, preferred stock is frequently cumulative; if the annual dividend
requirement cannot be satisfied, it will become a dividend in arrears, and all dividends in
arrears must be paid before any dividends can be paid to common shareholders (in contrast
to “noncumulative” where a missed dividend is not required to be made up in the future).

e The absence of voting rights.

e A preferred position in liquidation. In the event of a corporate liquidation, preferred stock is
understood to be “paid-off” before common shareholders. Of course, creditors must first be
satisfied before any funds will flow to either the preferred or common stockholders.

e A call feature, which means that the company can force the preferred shareholders to cash
out of their position in exchange for a pre agreed “call price” that is oftentimes set at a
certain percentage of “par value” (e.g., callable at 105, would mean the company can buy
back the preferred stock at 105% of its par value). You don’t have to think too long to see
that this call provision can effectively limit the upside value of an investment in preferred
stock, no matter how attractive its dividend might appear.
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e A convertible feature, which means that the preferred shares may be exchanged for common
stock at a preagreed ratio (e.g., 3 shares of common for one share of preferred). This
conversion provision can effectively provide significant upside value for an investment in
preferred stock, no matter how bad its dividend might appear.

e A maturity date, at which time the preferred will be bought back by the company
(“mandatory redeemable”).

Even a casual review of the above features will quickly lead you to conclude that preferred has its
merits and its detractions depending on how the individual features are implemented for a particular
company. Obviously, every company has different financing (and tax!) considerations and will
tailor its package of features to match those issues. For instance, a company can issue preferred that
is much like debt (cumulative, mandatory redeemable), because a fixed periodic payment must
occur each period with a fixed amount due at maturity. On the other hand, some preferred will
behave more like common stock (noncallable, noncumulative, convertible).

13.3 What is Par?

In the preceding discussion, there were several references to “par value.” Many states require that
stock have a designated par value (or in some cases “stated value”). Thus, par value is said to
represent the “legal capital” of the firm. In theory, original purchasers of stock are contingently
liable to the company for the difference between the issue price and par value if the stock is issued
at less than par. However, as a practical matter, par values on common stock are set well below the
issue price, negating any practical effect of this latent provision. It is not unusual to see common
stock carry a par value of $1 per share or even $.01 per share. In some respects, then, par value is
merely a formality. But, it does impact the accounting records, because separate accounts must be
maintained for “par” and “paid in capital in excess of par.”

To illustrate the issuance of par value stock, assume that Godkneckt Corporation issues 100,000
shares of $1 par value stock for $10 per share. The entry to record this stock issuance would be:

5-1-XX Cash 1,000,000
Common Stock 100,000
Paid in Capital in Excess of Par 900,000

To record issuance of 100,000 shares of $1 par
value common stock at $10 per share

Occasionally, a corporation may issue no-par stock, which is simply recorded by debiting Cash and
crediting Common Stock for the issue price. A separate Paid-in Capital in Excess of Par account is
not needed.
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By the way, the above entry assumed the stock was issued for cash. Sometimes, stock is issued for
land or other tangible assets, in which case the above debit would be to the specific asset account
(e.g., Land instead of Cash). When stock is issued for noncash assets, the amount of the entry would
be based upon the fair value of the asset (or the fair value of the stock if it can be more clearly
determined).

13.4 A Closer Look at Cash Dividends

Let’s begin by assuming that a company has only common shares outstanding. There is no
mandatory dividend requirement, and the dividends are a matter of discretion for the Board of
Directors to consider. Of course, to pay a dividend, the company must have sufficient cash and a
positive balance in retained earnings (companies with a “deficit” (negative) Retained Earnings
account would not pay a dividend unless it is part of a corporate liquidation action). Many
companies pride themselves in having a longstanding history of regular and increasing dividends; a
feature that many investors find appealing. Other companies view their objective as one of continual
growth via reinvestment of all earnings; their investors seem content relying on the notion that their
investment value will gradually increase due to this earnings reinvestment activity. Whatever the
case, a company has no obligation to pay a dividend, and there is no “liability” for dividends until
such time as they are actually declared. A “declaration” is a formal action by the Board of Directors
to indicate that a dividend will be paid at some stipulated future date. On the date of declaration, the
following entry is needed on the corporate accounts:

7-1-XX Dividends 50,000
Dividends Payable 50,000

To record declaration of dividends on
common stock (assumed $0.50 per share on
100,000 shares outstanding); to be paid on
September 1

In observing the above entry, it is imperative to note that the declaration on July 1 establishes a
liability to the shareholders that is legally enforceable. Therefore, a liability is recorded on the books
at the time of declaration. Recall (from much earlier chapters) that the Dividends account will
directly reduce retained earnings (it is not an expense in calculating income -- it is a distribution of
income)! On September 1, when the above dividends are paid, the appropriate entry is:

9-1-XX Dividends Payable 50,000
Cash 50,000

To record payment of previously declared
dividend
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Some shareholders may sell their stock between the date of declaration and the date of payment. Who
is to get the dividend? The former shareholder or the new shareholder? To resolve this question, the
Board will also set a “date of record;” the dividend will be paid to whomever the owner of record is on
the “date of record.” In the preceding illustration, the date of record might have been set as August 1,
for example. To further confuse matters, there may be a slight lag of just a few days between the time
a share exchange occurs and the company records are updated. As a result, the date of record is usually
slightly preceded by an ex-dividend date. The practical effect of this is simple: if a shareholder on the
date of declaration continues to hold the stock at least through the ex-dividend date, that shareholder
will get the dividend -- but if the shareholder sells

the stock before the ex-dividend date, the new Date of Record

shareholder can expect the dividend. In the time line  oate of ectaration Ex-Dividend Date Date of Payment

|

at right, if you were to own stock on the date of
Usually about a month

declaration, you must hold the stock at least until

;.

Usually 410 5 days

the “green period” to be entitled to receive payment.

13.5 The Presence of Preferred Stock

Recall that preferred dividends are expected to be paid before common dividends, and those
dividends are usually a fixed amount (e.g., a flat percentage of the preferred stock’s par value). In
addition, recall that cumulative preferred requires that dividends that are not paid become
“dividends in arrears.” Dividends in arrears must also be paid before any distributions to common
can occur. Another illustration will likely provide the answer to questions you may have about how
these concepts are to be implemented.
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To develop the illustration, let’s begin by looking at the equity section of Embassy Corporation’s
balance sheet. You will note that this section of the balance sheet has grown considerably. A
corporation’s stockholders’ equity (or related footnotes) should include rather detailed descriptions
of the type of stock outstanding and its basic features. This will include mention of the number of
shares authorized (permitted to be issued), issued (actually issued), and outstanding (issued minus
any shares reacquired by the company). In addition, you should be aware of certain related
terminology -- “legal capital” is the total par value ($20,400,000 below), and “total paid in capital”
is the legal capital plus amounts paid in excess of par values ($56,400,000 below).

Stockholders’ Equity

Capital stock:
Preferred stock, $100 par value, 8% cumulative, 500,000 $20,000,000
shares authorized, 200,000 shares issued and outstanding
Common stock, $1 par value, 2,000,000 shares authorized,

400,000 shares issued and outstanding 400,000  $20,400,000
Additional paid-in capital
Paid-in capital in excess of par -- preferred stock $ 1,000,000
Paid-in capital in excess of par -- common stock 35,000,000 36,000,000
Total paid-in capital $56,400,000
Retained earnings 6.600.000
Total stockholders’ equity $63.000,000

In examining this stockholders’ equity section, note that the par value for each class of stock is the
number of shares issued multiplied by the par value per share (e.g., 200,000 shares X $100 per share
=$20,000,000).

For Embassy Corporation, note that the preferred stock description makes it clear that the $100 par
stock is 8% cumulative. This means that each share will pay $8 per year in dividends, and any
“missed” dividends become dividends in arrears. Let us further assume that the notes to the financial
statements appropriately indicate that Embassy has not managed to pay its dividends for the
preceding two years. If Embassy desired to pay $5,000,000 of total dividends during the current
year, how much do you suppose would be available to the common shareholders? The answer is
only $200,000 (or $0.50 per share for the 400,000 common shares). The reason is that the preferred
stock is to receive annual dividends of $1,600,000 ($8 per share X 200,000 preferred shares), and
three years must be paid consisting of the two years in arrears and the current year requirement
($1,600,000 X 3 years = $4,800,000 to preferred, and leaving only $200,000 for common).
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14. Treasury Stock

Treasury stock is the term that is used to describe shares of a company’s own stock that it has
reacquired. A company may buy back its own stock for any number of reasons. The most frequently
cited reason is a belief by the officers and directors that the market value of the stock is
unrealistically low. As such, the decision to buy back stock is seen as a way to support the stock
price and utilize corporate funds to maximize the value for shareholders who choose not to sell back
stock to the company. Other times, a company may buy back public shares as part of a
reorganization that contemplates the company “going private” or delisting from some particular
stock exchange market. Further, a company might buy back shares, and in turn issue them to
employees pursuant to some employee stock award plan. And, a company might buy back stock
from a dissident shareholder who is making overtures to overthrow the current board (sometimes
called “greenmail” since cash is extracted from the company in exchange for shares and a
“standstill” agreement with the dissident).

Whatever the reason for a treasury stock transaction, the company is to account for the shares as a
purely equity transaction, and no gains and losses are reported in income (except in the case of
“greenmail” where some expense may be recorded for any premiums paid to “quiet” the dissident).
Procedurally, there are several ways the record the “debits” and “credits” associated with treasury
stock.

I will focus on the “cost method” as it is very direct and perfectly acceptable in each case. Under
this approach, acquisitions of treasury stock are accounted for by debiting Treasury Stock and
crediting Cash for the cost of the shares reacquired:

4-1-X1 Treasury Stock 1,000,000
Cash 1,000,000

To record acquisition of 40,000 treasury shares
at $25 per share

Treasury Stock is a contra equity item. It is not reported as an asset; rather, it is subtracted from
stockholders’ equity. The presence of treasury shares will cause a difference between the number of
shares issued and the number of shares outstanding. On the following page is Embassy
Corporation’s equity section, modified (see highlights) to reflect the treasury stock transaction
portrayed by the entry.
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The effect of treasury stock is very simple -- cash goes down and so does total equity by the same
amount. This result occurs no matter what the original issue price was for the stock. Accounting
rules do not recognize gains or losses when a company issues its own stock, nor do they recognize
gains and losses when a company reacquires its own stock. This may seem odd, because it is
certainly different than the way you or I think about stock investments. But remember, this is not a
stock investment from the company’s perspective -- it is instead an expansion or contraction of its
own equity.

Stockholders’ Equity

Capital stock:
Preferred stock, $100 par value, 8% cumulative, 500,000 $20,000,000
shares authorized, 200,000 shares issued and outstanding
Common stock, $1 par value, 2,000,000 shares authorized,

400,000 shares issued, and 360,000 shares outstanding 400,000  $20,400,000
Additional paid-in capital
Paid-in capital in excess of par -- preferred stock $ 1,000,000
Paid-in capital in excess of par -- common stock 35,000,000 36.000,000
Total paid-in capital $56,400,000
Retained earnings 6.600.000
Less: Treasury stock, 40,000 shares at cost HEELLILLD
Total stockholders’ equity Lt
£62.000,000
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Corporations in the United States are taxable entities, and their income is subject to taxation. This
“income tax” is problematic as it oftentimes produces double taxation. This effect occurs, because
when shareholders receive cash dividends on their corporate investments, they must include the
dividends in their own calculation of taxable income. Thus, a dollar earned at the corporate level is
reduced by corporate income taxes (at a rate that is likely about 35%); to the extent the remaining
after-tax profit is distributed to shareholders as dividends, it is again subject to taxes at the
shareholder level (at a rate that will vary in the 15% to 35% range). So, as much as half or more of
the profits of a dividend-paying corporation are apt to be shared with governmental entities because
of this double taxation effect. Governments are aware that this double-taxation outcome can limit
corporate investment and be potentially damaging to the economic wealth of their nation. Within the
United States, various measures of relief are sometimes available, depending on the prevailing
political climate (including “dividends received deductions” for dividends paid between affiliated
companies, lower shareholder tax rates on dividends, and S-Corporation provisions that permit
closely held corporations to attribute their income to the shareholders thereby avoiding one level of
tax). Outside of the United States, some countries adopt “tax holidays” that permit newer companies
to be exempt from income taxes, or utilize different approaches to taxing the value additive
components of production by an entity.

7-1-X2 Cash 400,000
Treasury Stock 250,000
Paid in Capital in Excess of Par 150,000

To record reissue of 10,000 treasury shares at
$40 per share

Download free ebooks at bookboon.com

69



Liabilities and Equity Corporate Equity Accounting

15. Stock Splits and Stock Dividends

Stock splits are events that increase the number of shares outstanding and reduce the par or stated
value per share. For example, a two-for-one stock split would double the number of shares
outstanding and halve the par value per share. Existing shareholders would see their shareholdings
double in quantity, but there would be no change in the proportional ownership represented by the
shares (i.e., a shareholder owning 1,000 shares out of 100,000 would then own 2,000 shares out of
200,000).

Importantly, the total par value of shares outstanding is not affected by a stock split (i.e., the number
of shares times par value per share does not change). Therefore, no journal entry is needed to
account for a stock split. A memorandum notation in the accounting records indicates the decreased
par value and increased number of shares. If the initial equity illustration for Embassy Corporation
was modified to reflect a four-for-one stock split of the common stock, the revised presentation
would appear as follows (the only changes are highlighted):

Stockholders’ Equity

Capital stock:
Preferred stock, $100 par value, 8% cumulative, 500,000 $20,000,000
shares authorized, 200,000 shares issued and outstanding
Common stock, $0.25 par value, 2,000,000 shares authorized,

1,600,000 shares issued and outstanding 400,000  $20,400,000
Additional paid-in capital
Paid-in capital in excess of par -- preferred stock $ 1,000,000
Paid-in capital in excess of par -- common stock 35,000,000 36.000,000
Total paid-in capital $56,400,000
Retained earnings 6.600.000
Total stockholders’ equity $63.000,000

By reviewing the changes, you can see that the par has been reduced from $1.00 to $0.25 per share,
and the number of issued shares has quadrupled from 400,000 shares to 1,600,000 (be sure to note
that $1.00 X 400,000 = $0.25 X 1,600,000 = $400,000). None of the account balances have
changes.

Given the paucity of financial statement effect, why would a company bother with a stock split? The
answer is not in the financial statement impact, but in the financial markets. Since the same
company is now represented by more shares, one would expect the market value per share to suffer
a corresponding decline. For example, a stock that is subject to a 3-1 split should see its shares
initially cut in third. But, holders of the stock will not be disappointed by this share price drop since
they will each be receiving proportionately more shares; it is very important to understand that
existing shareholders are getting the newly issued shares for no additional investment. The benefit
to the shareholders comes about, in theory, because the split creates more attractive opportunities for
other future investors to ultimately buy into the larger pool of lower priced shares. Rapidly growing
companies often have share splits to keep the per share price from reaching stratospheric levels that
could deter some investors. In the final analysis, you should understand that a stock split is mostly
cosmetic as it does not change the underlying economics of the firm.
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And, splits can come in odd proportions: 3 for 2, 5 for 4, 1,000 for 1, and so forth depending on the
scenario. A reverse split (1 for 5, etc.) is also possible, and will initially be accompanied by a
reduction in the number of issued shares along with a proportionate increase in share price. Reverse
splits are often seen when a stock’s price has dropped below a minimum threshold level for
continued listing on some stock exchanges. Shareholders who suffer a reverse split are usually not
too happy to see their number of shares reduced; however, they still own the same proportionate
share of the company, as the reductive impact falls evenly on all shareholders. Again, the reverse
split does not change the underlying economics of the firm.

15.1 Stock Dividends

In contrast to cash dividends discussed earlier in this chapter, stock dividends involve the issuance
of additional shares of stock to existing shareholders on a proportional basis. Stock dividends are
very similar to stock splits. For example, a shareholder who owns 100 shares of stock will own 125
shares after a 25% stock dividend (essentially the same result as a 5 for 4 stock split). Importantly,
all shareholders would have 25% more shares, so the percentage of the total outstanding stock
owned by a specific shareholder is not increased.
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Although shareholders will perceive very little difference between a stock dividend and stock split,
the accounting for stock dividends is unique -- stock dividends require journal entries. Stock
dividends are recorded by moving amounts from retained earnings to the paid-in capital accounts.
The amount to move depends on the size of the distribution; (1) a small stock dividend (generally
less than 20-25% of the existing shares outstanding) is accounted for at market price on the date of
declaration, and (2) a large stock dividend (generally over the 20-25% range) is accounted for at par
value.

To illustrate, assume that Childers Corporation had 1,000,000 shares of $1 par value stock
outstanding. The market price per share is $20 on the date that a stock dividend is declared and

issued:
Small Stock Dividend: Assume Childers Issues a 10% Stock Dividend
XX-XX-XX  Retained Earnings 2,000,000
Common Stock 100,000
Paid in Capital in Excess of Par 1,900,000

To record issuance of a 10% stock dividend
(1,000,000 shares X 10% X $20 per share
market price)
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Large Stock Dividend: Assume Childers Issues a 40% Stock Dividend

XX-XX-XX  Retained Earnings 400,000
Common Stock 400,000

To record issuance of a 40% stock dividend
(1,000,000 shares X 40% X S1 per share par
value)

Additional “temporary” equity accounts might be introduced if the declaration and distribution
occurred on different dates, but the final outcome after the distribution was complete would be
identical to the result produced above. Those details are left for more advanced accounting courses.

Before moving on, it may seem odd that accounting rules require different treatments for stock
splits, small stock dividends, and large stock dividends. There are some conceptual underpinnings
for these differences, but it is primarily related to bookkeeping issues. For example, the total par
value needs to correspond to the number of shares outstanding. To test your understanding, which
transaction (split, small stock dividend, or large stock dividend) causes a change in total
stockholders’ equity? The answer is none of them; each merely rearranges existing equity in some
fashion, but none of them change the bottom line total equity balance.
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16. Statement of Stockholders’ Equity

Remember that a company must present an income statement, balance sheet, statement of retained
earnings, and statement of cash flows. However, it is also necessary to present additional
information about changes in other equity accounts. This may be done by notes to the financial
statements or other separate schedules. However, most companies will find it preferable to simply
combine the required statement of retained earnings and information about changes in other equity
accounts into a single Statement of Stockholders’ Equity. Following is an example of such a

statement.
Pepper Corporation
Statement of Stockholders’ Equity
For the Year Ending December 31, 20X9
Paid-in . Total
' Excess of Par g Equity

Balance on January 1 $ 20,000,000 $ 25,000,000 $ 11,000,000 $ (5,000,000) $ 51,000,000
Issuance of additional shares for cash 3,000,000 12,000,000 15,000,000
Purchase of treasury stock (2,000,000) (2,000,000)
Net income 4,000,000 4,000,000
Cash dividends (1,500,000) (1,500,000)
Stock dividends 1,150,000 4,600,000 (5.750,000)

Balance on December 31 $ 24,150,000 $ 41600000 $ 7,750,000 $ (7.000.000) $ 66.500,000
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This statement does fulfill the requirement for a statement of retained earnings and additional equity
account information disclosures. From the illustration, you can see that the company had several
equity transactions during the year, and the retained earnings column roughly corresponds to a
statement of retained earnings. In actuality, companies are apt to expand this presentation to include
comparative data for multiple years and potentially include information about all other equity
accounts (such as the other comprehensive income accounts you learned about in the long-term
investments accounting chapter).

To close this chapter, I would encourage you to examine the above statement of stockholders’
equity, and be sure you can prepare a journal entry that corresponds to Pepper’s share issuance,
treasury stock transaction, cash dividend, and stock dividend. You will find it helpful to review the
various journal entries illustrated in this chapter as you undertake this effort.

Download free ebooks at bookboon.com

75



Liabilities and Equity Appendix
17. Appendix
P
. FUTURE VALUE OF $1
i
; RATE PER PERIOD
il 0.25% 0.50% 0.75% 1.00% 1.50% 2.00% 2.50% 3.00% 4.00% 5.00% 5.00% 7.00% 8.00% 5.00% 10.00% | 11.00% | 12.00%
1 | 1.00250 | 1.00500 | 1.00750 | 1.01000 | 1.01300 | 1.02000 | 1.02500 | 1.03000 | 1.04000 | 1.05000 | 1.06000 | 1.07000 | 1.08000 | 1.08000 | 1.10000 | 1.11000 | 1.12000
2 [ 1.00501 | 1.01003 | 1.01506 | 1.02010 | 1.03023 | 1.04040 | 1.05063 | 1.06090 | 1.08160 | 1.10250 | 1.12350 | 1.14450 | 1.16640 | 1.18810 | 1.21000 | 1.23210 | 1.25440
3 | 1.00752 | 1.01508 | 1.02267 | 1.03020 | 1.04558 | 1.08121 | 1.0768% | 1.08273 | 112486 | 115752 | 1.18102 | 1.22504 | 1.25871 | 1.28503 | 1.33100 | 1.36763 | 1.40483
4 | 1.01004 | 1.02015 | 1.03034 | 1.04080 | 1.06136 | 1.08243 | 1.10381 | 1.12551 | 1.16886 | 1.21551 | 1.26248 | 1.31080 | 1.36045 | 1.41158 | 1.46410 | 1.51807 | 1.57352
5 | 1.01255 | 1.02525 | 1.03807 | 1.05101 | 1.07728 | 1.10408 | 1.13141 | 115827 | 121865 | 1.27628 | 1.33823 | 1.40255 | 1.486533 | 1.53882 | 1.61051 | 1.68506 | 1.76234
§ [ 1.01509 | 1.03038 | 1.04585 | 1.06152 | 1.09344 | 1.12616 | 1.15869 | 1.19405 | 126532 | 1.34010 | 1.41852 | 1.50073 | 1.58687 | 1.67710 | 1.77155 | 1.87041 | 1.97382
7 | 1.01783 | 1.03553 | 1.05370 | 1.07214 | 1.10984 | 1.1488% | 1.18869 | 1.22987 | 131583 | 1.40710 | 1.50383 | 160578 | 1.71382 | 1.82804 | 1.94872 | 2.07616 | 2.21088
8 | 1.02018 | 1.04071 | 1.06160 | 1.08286 | 1.1264% | 1.17166 | 1.21840 | 1.26677 | 136857 | 1.47746 | 1.58385 | 1.7181% | 1.85093 | 1.95256 | 2.143559 | 2.30454 | 2.47556
9 | 1.02273 | 1.04551 | 1.08955 | 1.08359 | 1.14335 | 1.19509 | 1.24885 | 1.30477 | 142331 | 1.55133 | 1.68548 | 1.83845 | 1.95500 | 2.1718% | 2.35795 | 2.55804 | 277308
10 | 1.02528 | 1.05114 | 1.07758 | 1.10462 | 1.16054 | 1.21859 | 1.28008 | 1.34352 | 1.48024 | 1.52889 | 1.79085 | 1.96715 | 2.15882 | 2.36736 | 2.59374 | 2.83542 | 3.10385
11| 1.02785 | 1.05640 | 1.08586 | 1.11587 | 1.17795 | 1.24337 | 1.31209 | 1.38423 | 1.53945 | 1.71034 | 1.89830 | 210485 | 2.33164 | 2.58043 | 2.85312 | 3.15176 | 3.47855
12 | 1.03042 | 1.06168 | 1.09381 | 1.12683 | 1.19562 | 1.26824 | 1.34485 | 1.42576 | 160103 | 1.79586 | 2.01220 | 225219 | 2.51817 | 2.81266 | 3.13843 | 3.49845 | 3.89358
13 | 1.03289 | 1.086599 | 1.10201 1.13809 | 1.21355 | 1.29381 | 1.37851 | 1.48853 | 1.68507 | 1.88565 | 2.13253 | 2.40985 | 271962 | 3.08580 | 3.45227 | 3.88325 | 4.35349
14 | 1.03557 | 1.07232 | 1.11028 | 1.14847 | 1.23176 | 1.31548 | 1.41297 | 1.51258 | 1.73168 | 1.97993 | 2.26090 | 2.57853 | 2.93719 | 3.34173 | 3.79750 | 4.31044 | 488711
15| 1.03816 [ 1.07768 | 1.11860 | 1.18087 | 1.25023 | 1.34587 | 1.44830 | 1.35797 | 1.80094 | 2.07893 | 2.39655 | 275503 | 317217 | 3.64248 | 417725 | 4.78459 | 547357
16 | 1.04076 | 1.08307 | 1.12655 | 1.17258 | 1.26899 | 1.37279 | 1.48451 | 1.60471 | 1.87298 | 2.18287 | 2.54035 | 2.95216 | 3.42594 | 3.97031 | 4.59457 | 5.31089 | 6.1303%
17 | 1.04336 | 1.08849 | 1.13544 | 1.18430 | 1.28802 | 1.40024 | 1.52182 | 1.85285 | 1.94790 | 2.28202 | 269277 | 315882 | 3.70002 | 4.32763 | 5.05447 | 5.85509 | 5.86604
18 | 1.04597 | 1.09393 | 1.14396 | 1.19615 | 1.30734 | 1.42825 | 1.55966 | 1.70243 | 2.02582 | 2.40662 | 2.85434 | 3.37993 | 3.99602 | 471712 L 6.54355 | 7.68997
19| 1.04858 | 1.09940 | 1.15254 [ 1.20811 | 1.32685 | 1.45881 | 1.58885 | 1.73351 | 210885 | 2.52695 | 3.02550 | 3.61653 | 4.31570 | 514166 | 6.11581 | 7.26334 | 861276
20 | 1.05121 | 1.10490 | 1.16118 | 1.22019 | 1.34686 | 1.48595 | 1.63862 | 1.80611 | 219112 | 2.65330 | 3.20714 | 3.86968 | 4.66096 | 5.60441 | 672750 | 8.06231 | 9.645629
21| 1.05383 | 1.11042 | 1.165989 | 1.23235 | 1.36706 | 1.51567 | 1.57958 | 1.86029 | 227877 | 278596 | 3.39955 | 414056 | 5.03383 | 6.10881 | 7.40025 | 8.94917 | 10.80385
22 | 1.05647 | 1.11597 | 1.17867 | 1.24472 | 1.38756 | 1.54598 | 1.72157 | 1.91610 | 2.36992 | 292526 | 3.60354 | 443040 | 543654 | 6.65860 | 8.14027 | 9.93357 | 12.10031
23 | 1.05811 | 112155 | 1.18751 1.25716 | 1.40838 | 1.57690 | 1.76481 | 1.97359 | 2458472 | 3.07152 | 3.81975 | 4.74053 | 5.87148 | 7.25787 | 5.95430 | 11.02627 | 13.55235
24 | 1.06176 | 1.12716 | 1.19641 | 1.26973 | 1.42950 | 1.60844 | 1.80873 | 2.03279 | 2.56330 | 3.22510 | 4.04893 | 5.07237 | 6.34118 | 7.91108 | 9.845973 (1223916 | 15.17863
25 | 1.06441 | 1.13280 | 1.20539 | 1.28243 | 1.45085 | 1.54081 | 1.853%4 | 2.05378 | 266584 | 338635 | 429187 | 542743 | 6.84848 | 852308 | 10.83471 [ 13.58546 | 17.00005
30 | 1.07778 | 1.16140 | 1.25127 | 1.34785 | 1.56308 | 1.81136 | 2.09757 | 2.42726 | 3.24340 | 432194 | 5.74349 | 7.61226 | 10.06266 | 13.26768 | 17.44940 [ 22.85230 | 25.95992
35| 1.09132 | 1.19073 | 1.25850 | 1.41580 | 1.68388 | 1.95589 | 2.37321 | 2.81386 | 3.94509 | 5.51602 | 7.68509 | 1057658 | 14.78534 | 20.41357 | 28.10244 | 35.57485 | 52.79952
40 | 1.10503 | 1.22079 | 1.34835 | 1.48886 | 1.81402 | 2.20804 | 2.68506 | 3.26204 | 480102 | 7.03999 | 1028572 | 1497445 | 21.72452 | 31.40942 | 4525925 | 65.00087 | 93.05087
50 ) 1.13257 [ 1.28323 | 1.45256 | 1.54483 | 210524 | 2.65159 | 3.43711 [ 438351 | 710858 | 11.45740 | 18.42015 | 29.45703 | 45.50161 [ 74.35752 | 117.3509 [ 154.5648 | 285.0022
P
: PRESENT VALUE OF $1
i
; RATE PER PERIOD
il 0.25% 0.50% 0.75% 1.00% 1.50% 2.00% 2.50% 3.00% 4.00% 5.00% 5.00% 7.00% 8.00% 5.00% 10.00% [ 11.00% | 12.00%
1 | 0.88751 | 0.99502 | 0.952556 | 0.99010 | 0.98522 | 0.58039 | 0.97551 | 0.97087 | 0.96154 | 0.95238 | 0.94340 | 0934538 | 0.52553 | 0.91743 | 0.50509 | 0.90080 | 0.85286
2 | 0.99502 | 0.99007 | 0.98517 | 0.98030 | 0.97085 | 0.96117 | 0.95181 | 0.94260 | 0.52456 | 0.90703 | 0.85000 | 0.87344 | 0.85734 | 0.84168 | 0.82645 | 0.81162 | 0.79719
3 | 0.95254 | 0.98515 | 0.97783 | 0.97055 | 0.95832 | 0.54232 | 0.92850 | 0.91514 | 0.88500 | 0.85384 | 0.83562 | 0.81630 | 0.79383 | 0.77218 | 0.75131 | 0.7311% | 0.71178
4 | 0.95006 | 0.98025 | 0.97055 | 0.960598 | 0.94218 | 0.52385 | 0.90595 | 0.88845 | 0.85480 | 0.82270 | 0.75205 | 0.762%0 | 0.73503 | 0.70843 | 0.68301 | 0.65873 | 0.63552
5 | 0.98755 | 0.97537 | 0.96333 | 0.95147 | 0.92825 | 0.50573 | 0.88385 | 0.86261 | 0.82153 | 0.78353 | 0.74726 | 0.7125%% | 0.68058 | 0.545593 | 0.620592 | 0.55345 | 0.56743
§ [ 0.98513 | 0.97052 | 0.95616 | 0.94205 | 0.91454 | 0.88797 | 0.86230 | 0.83748 | 0.75031 | 0.74622 | 0.70455 | 0.66634 | 0.63017 | 0.59627 | 0.56447 | 0.53464 | 0.50863
7 | 0.98267 | 0.9656% | 0.94504 | 0.53272 | 0.90103 | 0.87056 | 0.84127 | 0.81305 | 0.75552 | 0.71068 | 0.86506 | 0.62275 | 0.58349 | 0.54703 | 0.51316 | 0.48166 | 0.45235
8 | 0.98022 | 0.9508% | 0.94158 | 0.52348 | 0.88771 | 0.85349 | 0.82075 | 0.78541 | 0.73065 | 0.57684 | 0.62741 | 0.58201 | 0.54027 | 0.50187 | 0.46651 | 0.43353 | 0.40388
9 | 0.97778 | 0.95610 | 0.93496 | 0.91434 | 0.87455 | 0.83576 | 0.20073 | 0.76642 | 0.70259 | 0.64461 | 0.59190 | 0.54393 | 0.50025 | 0.45043 | 0.42410 | 0.35092 | 0.36081
10 | 0.97534 | 0.95135 | 0.92800 | 0.90529 | 0.86167 | 0.82035 | 0.78120 | 0.74409 | 0.67555 | 0.61391 | 0.55839 | 0.50835 | 0.45319 | 0.42241 | 0.38554 | 0.35218 | 0.32157
11| 0.97291 | 0.94551 | 0.92109 | 0.89632 | 0.84853 | 0.80426 | 0.76214 | 0.72242 | 064958 | 0.58458 | 0.52679 | 0.47509 | 0.42888 | 0.38753 | 0.35049 | 0.31728 | 0.28748
12 | 0.97048 | 0.94191 | 0.91424 | 0.88745 | 0.83635 | 0.78849 | 0.74356 | 0.70138 | 0.62450 | 0.55684 | 0.49697 | 0.44401 | 0.39711 | 0.35553 | 0.31883 | 0.28584 | 0.25568
13 | 0.95806 | 0.93722 | 0.90743 | 0.87855 | 0.82403 | 0.77303 | 0.72542 | 0.58095 | 0.50057 | 0.53032 | 0.45884 | 0.414595 | 0.36770 | 0.32618 | 0.28985 | 0.25731 | 0.22917
14 | 0.96585 | 0.93256 | 0.90068 | 0.86996 | 0.81185 | 0.75788 | 0.70773 | 0.66112 | 0.57748 | 0.50507 | 0.44230 | 0.38782 | 0.34045 | 0.25925 | 0.26333 | 0.23199 | 0.20452
15| 0.95324 | 0.92792 | 0.89397 | 0.86135 | 0.79985 | 0.74301 | 0.65047 | 0.54185 | 0.55525 | 0.45102 | 0.41727 | 0.35245 | 0.31524 | 0.27454 | 0.2393% | 0.20800 | 0.18270
16 | 0.96084 | 0.92330 | 0.88732 | 0.85282 | 0.78803 | 0.72845 | 0.67362 | 0.62317 | 0.53391 | 0.45811 | 0.39365 | 0.33873 | 0.29189 | 0.25187 | 0.21763 | 0.18829 | 0.16312
17 | 0.95844 | 0.91871 | 0.88071 | 0.84438 | 0.7763% | 0.71416 | 0.65720 | 0.50502 | 0.51337 | 0.43530 | 0.37138 | 0.31657 | 0.27027 | 0.23107 | 0.19784 | 0.16953 | 0.14554
18 | 0.95505 | 0.91414 | 0.87416 | 0.83602 | 0.764%1 | 0.70016 | 0.64117 | 0.58739 | 0.49383 | 0.41552 | 0.35034 | 0.25586 | 0.25025 | 0.21199 | 0.17985 | 0.15282 | 0.13004
19 | 0.95357 | 0.90959 | 0.857585 | 0.82774 | 0.73361 | 0.58543 | 0.82553 | 0.57029 | 0.47454 | 0.35573 | 0.33051 | 0.27651 | 0.23171 | 0.19449 | 0.18351 | 0.13768 | 0.11611
20 | 0.9512% | 0.90505 | 0.8611% | 0.81954 | 0.74247 | 0.67257 | 0.61027 0.45639 | 0.3768% | 0.31180 | 0.25842 | 0.21455 | 0.17843 | 0.14364 | 0.12403 | 0.10367
21| 0.94852 | 0.90055 | 0.85478 | 0.81143 | 0.73150 | 0.65578 | 0.58539 0.43883 | 0.3585%4 | 0.25416 | 0.24151 | 0.18866 | 016370 | 0.13513 | 0.11174 | 0.08255
22 | 0.94855 | 0.89608 | 0.84342 | 0.80340 | 0.7206%9 | 0.64684 | 0.58085 | 0.52189 | 0.42196 | 0.34185 | 027751 | 0.22571 | 0.18394 | 0.15018 | 0.12285 | 0.10067 | 0.08264
23 | 0.9441% | 0.89152 | 0.84210 | 0.79544 | 0.71004 | 0.63416 | 0.58670 | 0.5066% | 0.40573 | 0.32557 | 0.26180 | 0.21085 | 0.17032 | 0.13778 | 0.11168 | 0.08089% | 0.0737%
24 | 094184 | 0.88719 | 0.83583 | 0.78757 | 0.65954 | 0.62172 | 0.55288 | 0.4915%3 | 0.39012 | 0.31007 | 0.248%8 | 0.19715 | 0.15770 | 0.12540 | 0.10153 | 0.08170 | 0.06588
25 | 0.9394% | 0.88277 | 0.82%61 | 0.77977 | 0.68521 | 0.60953 | 0.53539 | 0.47761 | 0.37512 | 0.29530 | 0.23300 | 0.18425 | 0.14802 | 0.11597 | 0.08230 | 0.07351 | 0.03882
30 | 0.82783 | 0.86103 | 0.79919 | 0.74182 | 0.63576 | 0.55207 | 0.47674 | 0.41199 | 0.30832 | 0.23138 | 0.17411 | 0.13137 | 0.09938 | 0.07537 | 0.05731 | 0.04358 | 0.03338
35| 091832 | 0.83982 | 0.75988 | 0.70581 | 0.55387 | 0.50003 | 0.42137 | 0.35538 | 0.25342 | 0.18129 | 0.13011 | 0.093586 | 0.08753 | 0.04899 | 0.03558 | 0.02592 | 0.018%4
40 | 0.90495 | 0.81914 | 0.74185 | 067165 | 0.55126 | 0.45289 | 0.37243 | 0.30855 | 0.20829 | 0.14205 | 0.08722 | 0.08678 | 0.04503 | 0.03184 | 0.02209 | 0.01538 | 0.01075
50 | 0.88263 | 0.775929 | 0.68825 | 0.60804 | 0.47500 | 0.37153 | 0.29094 | 0.22811 | 0.14071 | 0.08720 | 0.05425% | 0.03385 | 0.02132 | 0.01345 | 0.00852 | 0.00542 | 0.00345
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Liabilities and Equity

Appendix

(annuity in advance -- beginning of period payments)

FUTURE VALUE OF ANNUITY DUE

RATE PER PERIOD

0.25%

0.50%

0.75%

1.00%

1.50%

2.00% 2.50%

3.00%

4.00%

5.00%

6.00%

7.00%

8.00%

5.00%

10.00%

11.00%

12.00%

L R e =R B I -

n N S S S
SEHeERENMENEs I s R

1.00250
2.00751
3.01503
4.02506
5.03763
6.05272
7.07035
8.08053
9.11325
10.13854
11.16638
12.19680
13.22879
14266537
15.30353
16.34429
17.38765
18.43362
19.48220
20.5334
21.58724
22843
2370282
2476457
25.82899
31.19109
36.62056
4211824
53.32165

1.00500
2.01502
3.03010
4.05025
5.07550
6.10588
714141
818212
9.22803
1027917
11.33556
12.35724
13.46423
14.53655
1551423
16.65730
17.78579
18.87972
18897912
21.08401
22159443
23.31040
2443198
2555012
26.69191
3Jz44142
38.33610
44 375964
56.92839

1.00750
2.02256
3.04523
4.07556
5.11363
6.15048
721318
8.27478
934434
1042182
11.50759
1260139
13.70340
14.81368
15.93228
17.05827
18.19472
15833868
2043122
2165240
2282230
24.00096
2518847
2638458
27.58027
3375417
4015272
4675483
60.84721

1.01000
2.03010
3.08040
41011
5.15202
6.21354
7.28567
8.36853
948221
10.56683
11.68250
12.80833
1394742
15.09690
1625786
1743044
1861475
18.81080
21.01800
2223919
2347158
2471630
2557348
2724320
28.52563
3513274
4207688
4537524
6510781

1.01500
2.04522
3.08080
415227
5.22855
6.32299
743284
8.55933
9.70272
10.86326
12.04121
13.23683
14.45038
1568214
16.93237
18.20136
19.48838
20.79672
2212387
23.47052
2483758
2622514
2763352
28.06302
30.51387
3810176
46 27587
55.08191
7478807

1.02000 | 1.02500
2.06040 | 2.07563
312181 | 3.15252
420404 | 425833
5.30812 | 5.38774
6.43428 | 6.54743
7.58287 | 7.73812
8.75463 | 8.95452
9.94572 | 10.20338
1116872 [ 11.48347
12.41209 [ 12.79555
13.88033 [ 14.14044
1497384 [ 15.51885
1626342 [ 16.93193
1763829 [ 18.38022
18.01207 [ 19.86473
20.41231| 21.38635
21.84058 | 2294601
2328737 | 2454488
2478332 | 26.18327
26259898 | 27.86206
27.844096 | 2558443
2542185 | 31.34504
31.03030 | 33.15776
3287081 [ 35.01171
41.375944 [ 45.00027
50.95437 [ 55.30141
61.61002 | 65.08762
B6.27089 [ 95.92146

1.03000
2.05080
3.18363
430914
5.45841
6.66246
7.89234
9.15911
1046388
11.80780
1318203
1461779
16.08632
17.58891
19.15688
20.76159
2241444
2411687
2587037
27 67649
2853678
31.45288
33.42847
3545026
37.55304
4500268
6227594
77.66330
116.1808

1.04000
212160
3.24848
441832
5.63298
6.85829
8.21423
9.58280
11.00611
12.48635
14.02581
15.62684
1728191
19.02359
20.82453
22 69751
2484541
2667123
2877808
30.96520
3324797
3561789
38.08260
4064581
4331174
58.32834
76.58831
9882654
1587738

1.05000
215250
331013
4.52563
5.80191
71421
8.54511
10.02656
11.57789
13.20679
1481713
16.71298
18.55863
20.57856
2265748
2484037
2713238
29.53900
32.06595
3471925
37.50521
4043048
43.50200
4872710
5011345
69.76079
9483632
126.8398
219.8154

1.06000
218360
3.37462
463709
5.97532
7.39384
£.89747
1048132
1218079
13.97164
15.86604
17.88214
20.01507
2227597
2487253
272288
2550565
32.75999
35.78559
38.99273
4235229
4599583
4581558
53.86451
58.15638
83.80168
118.1209
164.0477
307.7561

1.07000
221480
3.43554
475074
6.15329
765402
5.25880
10.97799
12.81645
14.78360
16.88845
1814064
21.55048
2412802
26.88805
2584022
3295803
36.37896
35.95549
43.86518
48.00574
52.43614
57.17667
6224504
67 67647
101.0730
147.8135
213.6096
4345860

1.08000
224540
3.50611
486660
6.33593
7.92280
9.63663
11.48756
13.48656
15.64549
1787713
20.48530
2321482
26.15211
2832428
3275023
36.45024
4044626
4476196
4542282
54 45678
5589330
65.76476
72.10594
7895442
1223459
186.1021
279.7810
619.6718

1.08000
227810
3.57313
498471
6.52333
8.20043
10.02847
12.02104
1418283
16.56029
1814072
21.95338
25.01818
28.36092
32.00340
35.97370
40.30134
4501846
5016012
5576453
61.87334
68.53194
7578581
83.70080
9232398
148.5752
2351247
3682919
2884411

1.10000
231000
364100
510510
6.71561
848717
10.43589
12.57948
1483742
17.53117
20.38428
235221
2697498
3077248
3494973
35.54470
4455817
50.15809
56.27500
63.00250
T0.40275
78.54302
8745733
§7.34706
108.1818
180.5434
2881268
486.8518
1280.289

1.11000
234210
3.70873
5.22780
6.91286
8.783z27
10.85943
13.16397
15.72201
18.56143
21.71318
2521164
29.09452
33.40536
38.18995
43.50084
45.35584
55.93945
63.20283
71.26514
60.21431
80.14788
1011742
113.4133
126.9988
2209132
379.1644
6458269
1852.336

1.12000
237440
3.77933
5.35285
7.11518
5.08501
11.25969
13.77566
16.54874
19.65458
2313313
27.02911
31.38260
3627971
4175328
47 88367
5474871
6243968
71.05244
80.65874
91.50258
103.6029
117.1552
1323339
1483339
270.2926
4834631
850.1424
2688.020

PRESENT VALUE OF ORDINARY ANNUITY
(annuity in arrears -- end of period payments)

RATE PER PERIOD

0.25%

0.50%

0.75%

1.00%

1.50%

2.00% 2.50%

3.00%

4.00%

5.00%

6.00%

7.00%

8.00%

5.00%

10.00%

11.00%

12.00%
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0.95751
1.99252
298506
397512
498272
5.94785
6.93052
7.91074
8.88852
9.86386
1083677
11.80725
1277532
13.74096
1470420
15.66504
16.62348
17.57953
18.53320
1942449
20.43340
21.37995
2232414
2326598
2420547
2886787
33.47243
38.01986
4694817

0.98502
1.98510
287025
3.95050
492587
5.89638
6.86207
7.82296
8.77906
5.73041
1067703
11.61893
1255615
1348871
14.41862
15.33893
16.25863
1TATETT
18.08236
18.98742
1988798
20.78406
2167568
22 56287
2344584
2775405
32.03537
3617223
4414279

0.95256
197772
2.95556
3.92611
488544
5.84560
6.75454
7.73661
867158
9.59958
10.52067
11.43481
12.34235
13.24302
1413689
15.02431
1580502
1677918
17.64683
18.50802
18.36280
20212
21.05331
21.88915
Z2T1ETE
2677508
30.58266
3444854
41.566845

0.95010
1.897040
254089
3.90197
485343
5.79548
6.72819
765168
8.58602
5.47130
10.36763
11.25508
1213374
13.00370
13.86505
1471787
15.56225
1639827
1722601
18.04555
18.85698
19.66038
20.45582
2124339
2202318
2580771
2940858
32.83469
3519612

0.98522
1.95588
291220
3.85438
478264
569719
6.58821
7.48583
8.36052
522218
10.07112
10.90751
1173153
12.54338
13.34323
14.13126
1480765
15.67256
16.42617
17.16864
17.50014
18.62082
18.33086
20.03041
20.71861
24.01584
27.07559
2991585
34.95969

0.98038 | 0.87581
1.94156 | 1.92742
288388 | 2.85802
3.80773 | 3.76197
471346 | 484583
560143 | 5.50813
6.47159 | 6.34538
7.32548 | TAT014
8.16224 | 7.97087
8.98259 | 8.75206
9.78685 | 9.51421
10.57534 [ 10.25776
11.34837 [ 10.98318
12.10625 | 11.69091
12.84526 [ 12.38138
13.57771 | 13.05500
1428187 [ 13.71220
14.95203 | 14.35336
1567846 | 14.97885
16.35143 [ 15.58916
17.01121 [ 16.18455
17.65805 | 16.76541
18.28220 [ 17.33211
18.91383 | 17.88499
19.52345 [ 18.42438
2239646 | 20.93029
2499862 | 23.14516
27.35548 | 2510278
31.42361 | 28.382:1

0.97087
1.91347
2.82861
3.71710
457871
541719
6.23028
7.01969
78611
8.53020
9.25262
5.95400
1053496
11.28607
1183794
12.56110
1316612
13.75351
14.32380
1487747
15.41502
15.93692
16.44381
16.93554
1741315
19.50044
2148722
2311477
2572876

0.95154
1.88609
277509
3.62590
445182
524214
6.00205
6.73274
7.43533
8.11080
8.76048
9.38507
9.98565
10.56312
11.11838
11.65230
12.16567
12.65830
13.13384
13.58033
14.02816
1445112
1485684
15.24696
1562208
1728203
18.66461
19.79277
21.48218

0.95238
1.85841
272325
3.54585
432548
5.07569
5.78637
6.46321
7.10782
772173
8.30641
8.86325
9.39357
9.89864
10.37966
1083777
11.27407
11.68959
12.08532
12.48221
1282115
13.16300
13.48857
13.75864
1405384
15.37245
16.37419
17.15809
18.25583

0.94340
1.83339
287301
3.46511
421238
491732
5.58238
620979
6.80169
7.36009
7.88687
8.38384
885268
5.25458
9.71225
10.10580
1047726
10.82760
1115812
11.46092
11.76408
12.04158
12.30338
12.55036
12.78336
13.76483
1448825
15.04630
15.76186

0.93458
1.80802
Z52432
3.38721
410020
4.76654
5.38929
5.97130
6.51523
7.02358
748867
7.94269
8.35765
8.74547
510791
9.44665
9.78322
10.05809
10.33560
10.58401
10.83553
11.06124
1127218
11.46833
11.65358
12.40804
1294767
133317
13.80075

0.92583
1.78326
257710
331213
3.99271
462288
5.20837
5.74664
6.24689
671008
7.13856
7.53608
7.80378
£.24424
8.55548
8.85137
912164
9.37189
5.60360
9.81815
10.01680
10.20074
10.37108
10.52876
1067478
11.25778
11.65457
11.92461
1223348

0.91743
1.75911
253129
3.23972
3.88965
448552
5.03285
5.53482
5.99525
6.41766
6.80519
7.16073
748690
7.78615
8.06065
8.31256
8.54363
8.75563
8.95011
9.12855
929224
944243
9.58021
9.70661
5.82258
10.27365
10.56682
10.75736
10.96168

0.590808
1.73554
248685
3.16987
3.78079
4.35526
485842
5.33483
5.75802
614457
645508
6.81369
7.10336
7.36669
760608
7.82371
8.02155
8.20141
£.35452
8.51356
8.64869
8.77154
8.88322
8.98474
5.07704
942691
9.64416
9.77905
9.91481

0.50080
1.71252
2.443T1
3.10245
3.69580
423054
471220
514612
5.53705
5.88923
6.20652
6.45236
6.74987
6.98187
7.18087
7.37916
7.54879
7.70162
7.83529
7.96333
8.07507
8.17574
£.26643
8.34814
8.42174
869379
8.85524
8.95105
5.04185

0.89286
1.68005
240183
3.03735
360478
411141
4.58376
496764
5.32825
565022
5.93770
6.15437
6.42355
6.62817
6.81086
6.97399
7.11963
7.24567
7.36578
7.45944
7.56200
7.64465
7.71843
778432
784314
8.05518
8.17550
8.24378
£.30450
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